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PHYSICS

BOOKS - NIKITA PHYSICS (HINGLISH)

SURFACE TENSION

Multiple Choice Questions Behavior Of Liquid

Surface

1. The force of attraction between molecules of

different substances is



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_p2IGOX43dBT9

A. adhesive force

B. cohesive force

C. molecular force

D. intermolecular force

Answer: B

o Watch Video Solution

2. The force of attraction between molecules

of different substances is


https://dl.doubtnut.com/l/_p2IGOX43dBT9
https://dl.doubtnut.com/l/_LM2Gi6ZIV9Pl

A. adhesive force

B. molecular force

C. cohesive force

D. intermolecular force

Answer: A

o Watch Video Solution

3. The maximum distance upto which the

intermolecular forces are effective is called


https://dl.doubtnut.com/l/_LM2Gi6ZIV9Pl
https://dl.doubtnut.com/l/_lgjjSKJFDE69

A. molecular range

B. radius of the molecule

C. sphere of influence of that molecule

D. molecular force

Answer: A

o Watch Video Solution

4.1n a liquid , every molecule is pulled by every
other molecule is pulled by every other

molecule by


https://dl.doubtnut.com/l/_lgjjSKJFDE69
https://dl.doubtnut.com/l/_Z8CAfaiYlusc

A. adhesive force

B. intermolecular force

C. cohesive forces

D. all of these

Answer: C

o Watch Video Solution

5. An imaginary sphere drawn with a radius
equal to the range of molecular attraction is

called


https://dl.doubtnut.com/l/_Z8CAfaiYlusc
https://dl.doubtnut.com/l/_qf7M2IZeULik

A. range of molecular attraction

B. sphere of influence of that molecule

C. diameter of that molecule

D. radius of molecular attraction

Answer: B

o Watch Video Solution

6. When the adhesive force between a liquid

and glass is greater than the force between


https://dl.doubtnut.com/l/_qf7M2IZeULik
https://dl.doubtnut.com/l/_bYnrPcotlouh

the liquid molecules , the meniscus of the

liquid in a capillary tube is

A. convex

B. concave

C.plane

D. horizontal

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bYnrPcotlouh

7.If the force of cohesion is equal to the force

of adhension , then the liquid surface will be

A. convex

B. concave

C.plane

D. cylindrical

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XbEQCE9z3Mir
https://dl.doubtnut.com/l/_auLM1CUobKXm

8. If the cohesive force is greater than the

adhesive force, the liquid surface will be

A. plane

B. concave

C. convex

D. horizontal

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_auLM1CUobKXm

9. Surface tension is due to

A. an atomic phenomenon

B. a gravitational phenomenon

C. an electric phenomenon

D. a molecular phenomenon

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nJqF0UJTa1U4

10. Mercury does not wet wood . It indicates

that its cohesive force is

A. greater than its adhesive force

B. equal to its adhesive force

C. less than its adhesive force

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8ZreyeHDISo0
https://dl.doubtnut.com/l/_LpIZlbNePfWp

11. Water does not wet an oily glass because

A. cohesive force of oil > adhesive force

between oil and glass

B. cohesive force of oil < cohesive force

of water

C. oil repels water

D. cohesive force of water > adhesive

force between water and oil molecules

Answer: D

I ° Watch Video Solution


https://dl.doubtnut.com/l/_LpIZlbNePfWp

12. When kerosene is sprinkled on the surface

of a pond , mosquitoes can no longer remain

sitting over it because

A. oil reduces the surface tension, so liquid

membrane is no longer able to support

them .

B. mosquitoes are repelled by the smell of

the oil


https://dl.doubtnut.com/l/_LpIZlbNePfWp
https://dl.doubtnut.com/l/_XnhM3BOdhI5A

C.swimming is no longer pleasant to the

mosquitoes

D. the question is irrelevant

Answer: A

o Watch Video Solution

13.If ice melts under gravity free conditions in

vacuum, the final geometrical shape will be

A. straight


https://dl.doubtnut.com/l/_XnhM3BOdhI5A
https://dl.doubtnut.com/l/_bBNOg9RhQKsn

B. cubical

C. circular

D. spherical

Answer: D

o Watch Video Solution

14. The liquid which completely wets the solid ,

the cohesive forces are


https://dl.doubtnut.com/l/_bBNOg9RhQKsn
https://dl.doubtnut.com/l/_Bsm7HjAlnc57

A.very weak compared to the adhesive

force

B.very strong compared to the adhesive

force

C. equal to the adhesive force

D. can not be predicted

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Bsm7HjAlnc57

15. Why does an iron needle float on clean

water but sink when some detergent is added

to this water?

A. addition of detergent increases the

density of water

B. addition of detergent reduces the

surface tension of water

C.solution of detergent decreases the

density of water


https://dl.doubtnut.com/l/_Zt7mXEcbdIzs

D. addition of detergent increases the

surface tension of water

Answer: B

o Watch Video Solution

16. Origin of surface tension of a liquid is due

to

A. gravitational force between molecules

B. electrical force between molecules


https://dl.doubtnut.com/l/_Zt7mXEcbdIzs
https://dl.doubtnut.com/l/_x6GqqsglKiAV

C. adhesive force between molecules

D. cohesive force between molecules

Answer: B

o Watch Video Solution

17. Surface tension is

A.the work done per wunit area in

increasing surface area of a liquid under

isothermal conditions


https://dl.doubtnut.com/l/_x6GqqsglKiAV
https://dl.doubtnut.com/l/_Gm5pMKMjROAW

B. the work done per unit area increasing

the surface area of a liquid under

adiabatic conditions

C.the work done per unit area decreasing

the surface area of a liquid under

adiabatic conditions

D. free surface energy per unit volume

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Gm5pMKMjROAW
https://dl.doubtnut.com/l/_1GFKdOYaOkmc

18. The radius of sphere of influence is

A.10 7 m

B.10 % cm

C.10 0 cm

D.10 8 cm

Answer: A

o Watch Video Solution

Multiple Choice Questions Surface Tension


https://dl.doubtnut.com/l/_1GFKdOYaOkmc

1. The tangential force per unit length an

imaginary line drawn on the surface of a liquid

, IS

A. surface energy

B. surface tension

C. free surface energy

D. work done

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9Q67XHR5Flkw

2. The dimensions of surface tension are

A [L'MOT 7

B. [L°M°T ~']

C.[L°M'T 7]

D. [L'M'T 7]

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_PjhPbi0xndvi

3. The unit of surface tension in Sl system is

A.N/m

B. dyne/cm
C.J/m?

D.a' and 'c'

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8BNyq78z9VmX

4. A needle made up of iron floats on the

water surface due to

A. surface tension of water is greater than

the weight

B. free surface energy of water surface

C. surface energy of water surface

D. viscus force of water

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UinQT0YaPUF7

5.If I is the length of an imaginary line drawn

on free surface of liquid and F is tangential

force acting on it , the surface tension is

A. F/l

B. Fl

C.I/F

D. T/

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UinQT0YaPUF7
https://dl.doubtnut.com/l/_Lekf87KugmYX

6. When mercury is in contact with glass m

then the surface of mercury is

A. concave

B. convex

C.plane

D. irregular shape

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Lekf87KugmYX
https://dl.doubtnut.com/l/_BM543M5kaXqu

7. The surface of water in contact with glass

wall is

A. concave

B. convex

C.plane

D. horizontal

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IDmRcfMVjaia
https://dl.doubtnut.com/l/_bkRm6AYT8K5B

8. Surface tension is due to

A. adhesive force

B. gravitational force

C. cohesive force

D. electrostatic force

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_bkRm6AYT8K5B

9. The surface tension of a liquid with rise

of temperature.

A. decreases

B. increases

C.remains same

D. independent of temperature

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IuAsAp3a6htP
https://dl.doubtnut.com/l/_5UWFMTvoYYaX

10. The effect of surface tension causes

A. a needle floats on the surface of water

B. a needle does not float on the surface of

water

C. a needle floats partially on the surface of

water

D. both 'a' or 'c'

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5UWFMTvoYYaX

1. When soap solution dissolves in water ,

then the surface tension of soap solution is

A. reduced

B. increased

C.remains constant

D. zero

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5CTKW3DA8lsd
https://dl.doubtnut.com/l/_1V1Q2Q5ZQ7Mp

12. The surface of a liquid has tendency to

contract and minimise surface area . This

tendency is due to

A. viscosity

B. elasticity

C. friction

D. surface tension

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1V1Q2Q5ZQ7Mp
https://dl.doubtnut.com/l/_onZjd9uKfOC9

13. A drop of oil is placed on the surface of

water. Which of the following statements is

correct

A. it will remain on it as a sphere

B. it will pread as a thin layer

C. it will partly be a spherical droplet and

partly a thin film

D. it will float as a distorted drop on the

water surface

Answer: B


https://dl.doubtnut.com/l/_onZjd9uKfOC9

° Watch Video Solution

14. The surface tension of liuid at its boiling

point

A.Is zero

B. is infinite

C.is same as that of any other temperature

D. canot be determined

Answer: A

| 8 l


https://dl.doubtnut.com/l/_onZjd9uKfOC9
https://dl.doubtnut.com/l/_JnuGG0UAI7SU

15. At critical temperature, the surface tension

of a liquid

A. zero

B.one

C. infinity

D. any finite values

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_JnuGG0UAI7SU
https://dl.doubtnut.com/l/_BmxGJuUZq3MV

16. Which of the following have same

dimensional formula as that of the surface

tension ?

A. Viscosity

B. Planck's constant

C. Force constant

D. Young's modulus

Answer: C

[ o Watch Video Solution


https://dl.doubtnut.com/l/_BmxGJuUZq3MV
https://dl.doubtnut.com/l/_o2Z4A84Khz8B

17. A brush is dipped in water and removed .

The hair of the brush cling together due to

A. the force of attraction between the hair

B. the characteristic property of the hair

C. viscosity of water

D. surface tension of water

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_o2Z4A84Khz8B
https://dl.doubtnut.com/l/_fzg6gc2IDG0x

18. The surface tension of water at freezing

point is

A. zero

B. infinity

C.same as that of before

D. any values from zero to infinity

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fzg6gc2IDG0x
https://dl.doubtnut.com/l/_9awp5Ecu2ORt
https://dl.doubtnut.com/l/_4AKn0YfmFhyb

19. What make it difficult to separate two glass

sheets having a drop of water between them .

A. viscosity

B. gravity

C. surface tension

D. atmospheric pressure

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4AKn0YfmFhyb
https://dl.doubtnut.com/l/_pyrWOsUY1kcc

20. When a small quantity of soluable impurity

is added to water , then its surface tension

A. Increases

B. decreases

C.may increase or decrease depending

upon impurity

D. remains same

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pyrWOsUY1kcc
https://dl.doubtnut.com/l/_rxMWARrwgykx

21. When a small quantity of partially soluable

impurity is added to water , then the surface

tension of water

A. Increases

B. decreases

C. may increase or decrease

D. remains same

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rxMWARrwgykx

22. When sugar is added to water , then

surface tension of sugar solution is

A. less then that of water

B. same as that of water

C. more that of water

D.some times more and sometimes less

than that of water

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_feUcrIh0uEhw

23. If the surface tension of a rectangular soap

filmis T and length | , total force acting on it is

A. 2T/

B.1/2T

C.T/2l

D.2Tl

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_feUcrIh0uEhw
https://dl.doubtnut.com/l/_vEzVylacaYmo

24.1f there is no difference of pressure on the

two sides of the surface, then the liquid

surface is

A. concave

B. convex

C. cylindrical

D. plane

Answer: D

I o Watch Video Solution


https://dl.doubtnut.com/l/_vEzVylacaYmo
https://dl.doubtnut.com/l/_ynch62DA9lY1

25. The molecular forces are

A. short range forces

B. intermediate forces

C.long range forces

D. multi range forces

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ynch62DA9lY1
https://dl.doubtnut.com/l/_knwaaJGeVXUy
https://dl.doubtnut.com/l/_AeRVkm7t85gA

26. Two pieces of glass plate one upon the

other with a little water between them cannot

be separated easily because of

A. surface tension

B. viscosity

C. pressure

D. inertia

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AeRVkm7t85gA

27.The surface energy is numerically equal to

A. work done

B. molecular force

C. surface tension

D. potential energy

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jIAt0C8BvBEo

28. The surface tension of molten cadmium

with increase of temperature generally

A. iIncreases

B. is infinity

C.remains constant

D. decreases

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YhBHud92yhIq
https://dl.doubtnut.com/l/_5nHvsRK8jmhZ

29. Two wooden sticks of negliable weight are

floating parallel to each other very closely . If a

hot metal wire is placed between the two

sticks without touching them

A. the two sticks move apart

B. come closer

C.they remain at the same as before

D. they stand erect

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5nHvsRK8jmhZ

30. The phenomenon of surface tension

exhibited liquids is due to

A. electrons

B. atoms

C. molecules

D. gravity

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5nHvsRK8jmhZ
https://dl.doubtnut.com/l/_DAVLuhQLe8Pu

31. The surface tension of pure water is

A.0.065N/m

B.0.072N/m

C. 0.045 N/m

D. 0.045 dyne/cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_q9M3pX5Ienkt

32. The surface tension of a liquid is
70dyne /cm . In MKS system its value is

A.70 N/m

B.70 x 10~ *N/m

C.7 x 10* N/m

D.7 x 10 N/m

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YPeDsgYw3iCo
https://dl.doubtnut.com/l/_Dk5zWe8XtEHd

33. If the maximum force in addition to the
weight required to pull a wire frame 5.0 cm
long from water surface at temperature of
20° Cis 720 dyne the surface tension of water
will be

A. 72.0dyne/cm

B. 145 dyne/cm

C. 7.28 dyne/cm

D.7.28 N/m

Answer: A

| s ]


https://dl.doubtnut.com/l/_Dk5zWe8XtEHd

| ¥ Watch Video Solution

34. If the length of a needle floating on water
is 2 cm then the additional force due to
surface tension required to pull the needle
out of water will be

A.28 x 107 *N

B.32 x 10~ *N

C.14 x 10 *N

D. 20 x 10 “N


https://dl.doubtnut.com/l/_Dk5zWe8XtEHd
https://dl.doubtnut.com/l/_lXTC7aW9bfgq

Answer: A

o Watch Video Solution

35. The surface tension of a liquid is 10° dyne
em .1t is equivalent to

A.10"N/m

B. 10°N/m

C. 10°N/m

D. 10*N/m


https://dl.doubtnut.com/l/_lXTC7aW9bfgq
https://dl.doubtnut.com/l/_bkUtNNarm3KZ

Answer: C

o Watch Video Solution

36. The force required to take away a flat

circular plate of radius 4 cm from the surface

of water is

A. 560 7 dyne

B. 560 dyne

C. 5.0

D. 567 dyne


https://dl.doubtnut.com/l/_bkUtNNarm3KZ
https://dl.doubtnut.com/l/_Y7v0K5WzmBMH

Answer: A

o Watch Video Solution

37. A circular loop of a thin wire of radius
(7/m) cm is suspended from one arm of a
balance . The plane of the loop is in contact
with the surface of soap solution . If the pull
on the loop due to surface tension is found to
be 0.6 x 10~ % kg wt , then the surface tension

of soap solution will be,


https://dl.doubtnut.com/l/_Y7v0K5WzmBMH
https://dl.doubtnut.com/l/_tGymC2LgujAn

A. 11 x 10 3N/m
B.21 x 10 °N/m
C.21 x 10 " °N/m

D.41 x 1073 N/m

Answer: C

o Watch Video Solution

38. A platinum wire ring of radius 2.5 cm floats
horizontally on the surface of water . A

vertically force of 0.022 N is required to detach


https://dl.doubtnut.com/l/_tGymC2LgujAn
https://dl.doubtnut.com/l/_UD96Qu33Ivef

the ring from the surface of water . Then

surface tension of water is

A. 6 x 10 2N/m
B.8 x 10 2N/m
C.7 x 10 ?>N/m

D.9 x 10 2N/m

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_UD96Qu33Ivef

39. A wire of length L metres, made of a
material of specific gravity 8 is floating
horizontally on the surface of water. If it is not
wet by water, the maximum diameter of the
wire (in mm) upto which it can continue to

float is (surface tension of water s

T =70 x 10" 3Nm 1)

A. 0.75 mm
B.1.5 mm

C.1.5cm


https://dl.doubtnut.com/l/_qPu2uD03GctF

D.1.5m

Answer: B

° Watch Video Solution

40. The length of needle foating on the
surface of water is 1.5 cm the force in addition
to its weight required to lift the needle from

water surface will be (surface tension of water

= 7.5N /cm)

A.22.5N


https://dl.doubtnut.com/l/_qPu2uD03GctF
https://dl.doubtnut.com/l/_DQgcL7o4eoDg

B. 2.25N

C.0.25N

D.225N

Answer: A

o Watch Video Solution

41. A circular wire of length 0.1 m is touching
the surface of the liquid of surface tension

3 x 102 N/m The mass of a wire is 10~ * kg .


https://dl.doubtnut.com/l/_DQgcL7o4eoDg
https://dl.doubtnut.com/l/_OgTTwRzklqN2

If g =10 m/s® then the force needed to lift
the circular wire is

A7 x 103N

B.0.7 x 103N

C.0.07 x 103N

D.70 x 10 > N

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_OgTTwRzklqN2

42. The force of surface tension on a ring
situated on the surface of water s
147 x 10~ * N . Then the diameter of the ring
is

A.5mm

B.1cm

C.2cm

D.4 cm

Answer: B

I o Wiak~hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_NHjpkzBt2c9X

YVOILLIL VI INAGINIE L J

43. A soap film is formed in a rectangular
frame of length 7 x 10~ m when it is dipped
in soap solution. A weight of 0.4 x 103 kg is
required to pull the frame . Surface tension of
the soap solution is

A.2.8 x 107 ? N/m

B.0.27 x 10~ *N/m

C.27 x 107 2N/m

D. 270 x 10 2N/m


https://dl.doubtnut.com/l/_NHjpkzBt2c9X
https://dl.doubtnut.com/l/_8UgvQscZEDl4

Answer: A

o Watch Video Solution

44, A ring of radius r, and weight W is lying on
a liquid surface . If the surface tension of the
liquid is T, then the minimum force required
to be applied in order to lift the ring up

AW

B.2W

C.W + 4mxrT


https://dl.doubtnut.com/l/_8UgvQscZEDl4
https://dl.doubtnut.com/l/_jbXuuXlNYZJ5

D.W + 2nrT

Answer: C

o Watch Video Solution

45, A straight piece of wire 4 cm long is placed
horizontally on the surface of water annd is
gently pulled up . It is found that a force of
560 dyne in addition to the weight of the wire
is required for this purpose . Then surface

tension of the water is


https://dl.doubtnut.com/l/_jbXuuXlNYZJ5
https://dl.doubtnut.com/l/_zQ2RW1m67lmU

A.70 dyne/cm

B. 44.8 dyne/cm

C. 700 dyne/cm

D. none

Answer: A

o Watch Video Solution

46. A U-shaped wire is dipped in a soap
solution, and removed. A thin soap film formed

between the wire and a light slider supports a


https://dl.doubtnut.com/l/_zQ2RW1m67lmU
https://dl.doubtnut.com/l/_nE1yVBrWuYcl

weight of 1.5 x 10 2N (which includes the
small weigh of the slider). The length of the

slider is 30cm. What is the surface tension of
the film?

A. 0.025N/m

B.0.050N/m

C.0.5N/m

D. 0.250N/m

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nE1yVBrWuYcl

47. A circular loop of thin wire of radius 7 cm is
lifted from the surface of a liquid . An
additional force of 44 x 102 N is required to
detach the loop from the surface of the liquid .

The surface tension of the liquid in N/m is
A.0.5
B.1

C.2.86

D. 6.826


https://dl.doubtnut.com/l/_nE1yVBrWuYcl
https://dl.doubtnut.com/l/_EV8OmTCSMVkr

Answer: A

o Watch Video Solution

48. A metal ring of internal and external radii
15 mm and 20 mm respectively is placed
horizontally on the surface of a liquid of
surface tension 0.03 N/m To detach the ring

from the liquid surface the force required is

A. 28 x 107 °N

B.66 x 10 *N


https://dl.doubtnut.com/l/_EV8OmTCSMVkr
https://dl.doubtnut.com/l/_pZO4XfFBsXWA

C.6.6 x 10 *N

D. 425 x 10N

Answer: B

o Watch Video Solution

49, A thin liquid film of thickness 5 x 10~ ° m
is formed between two glass plates of surface
area 1 x 10 %2m? , If the surface tension of
the liquid is 60 x 10~ % n/m the force that is

required to separate the glass plates is


https://dl.doubtnut.com/l/_pZO4XfFBsXWA
https://dl.doubtnut.com/l/_2x4Nx94k7E73

A.240 N

B.120 N

C.24 N

D.1.2 N

Answer: A

° Watch Video Solution

Multiple Choice Questions Surface Energy And

Surface Tension



https://dl.doubtnut.com/l/_2x4Nx94k7E73

1. The relation between surface tension and

surface energy is

A. W=A/T

B. W=T/A

C. T=W/A

D. T=W.A

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OnM8gdwPO5fu
https://dl.doubtnut.com/l/_5HgZ7TOppQEw

2. The potential energy per unit change in area

of the liquid surface, is

A. surface energy

B. work done

C. surface tension

D. total energy

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_5HgZ7TOppQEw

3. The work done to increase unit area of the

liquid surface is equivalent to

A. surface energy

B. surface tension

C. work done

D. energy stored

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_B59JGdS17ZwC
https://dl.doubtnut.com/l/_fxY7GNKrU7qu

4. A drop of water breaks into two droplets of
equal size. In this process which of the
following statements is correct?

(1). The sum of temperature of the two
droplets together is equal to the original
temperature of the drop.

(2).the sum of masses of the two droplets is
equal to the original mass of the drop.

(3). the sum of the radii of the two droplets is
equal to the radius of the original drop.

(4). the sum of the surface areas of the two
droplets is equal to the surface area of the

original drop.


https://dl.doubtnut.com/l/_fxY7GNKrU7qu

A.the sum of the temperature of two

droplets together is equal to

temperature of the original drop

B.the sum of the masses of the two

droplets is equal to mass of drop

C.the sum of the radii of the two droplets

is equal to the radius of the drop

D. the sum of the surface areas of the two

droplets is equal to the surface area of

the original drop


https://dl.doubtnut.com/l/_fxY7GNKrU7qu

Answer: B

o Watch Video Solution

5. A liquid drop of radius R is broken up into n
small droplets. The work done is proportional

to


https://dl.doubtnut.com/l/_fxY7GNKrU7qu
https://dl.doubtnut.com/l/_iECpIIMQFgkO

Answer: B

o Watch Video Solution

6.If a single drop of liquid is splited into large

number of droplets all of the same size , then

the energy in this process will be

A. liberated

B. absorbed

C. neither liberated nor absorbed

D. some mass is converted into energy


https://dl.doubtnut.com/l/_iECpIIMQFgkO
https://dl.doubtnut.com/l/_xZqYkaXOnATa

Answer: B

o Watch Video Solution

7. A soap bubble encloses air inside it

A.the soap film consists of two surface

layers of molecules back to back

B. the bubble encloses air inside it

C.the pressure inside the bubble is less

than the atmospheric pressure has


https://dl.doubtnut.com/l/_xZqYkaXOnATa
https://dl.doubtnut.com/l/_KeTTz4RntM1r

compressed if equally from all sides it a

spherical shape

D. because of the elastic property of the

film , it will tend to shrink to have as

small as surface is possible for the

volume it has enclosed

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_KeTTz4RntM1r

8. If n drops of a liquid, form a single drop,

then

A.some energy will be absorbed in the

process

B.some energy will be released in the

process

C.some energy absorbed or released in the

process


https://dl.doubtnut.com/l/_3XUEfL2vUa7E

D. energy neither absorbed nor released in

this process

Answer: B

o Watch Video Solution

9. Which molecule of a liquid has a higher

potential energy ?

A. at the centre of gravity of the liquid


https://dl.doubtnut.com/l/_3XUEfL2vUa7E
https://dl.doubtnut.com/l/_qI6oG8OT47Ep

B. at any distance from centre of gravity of

liquid

C.on the surface film

D. at the bottom of the vessel

Answer: C

o Watch Video Solution

10. The potential energy of molecule on the
surface of a liquid as compared to in side the

liquid is


https://dl.doubtnut.com/l/_qI6oG8OT47Ep
https://dl.doubtnut.com/l/_VYj5Ss7iZuiy

A. greater

B. less

C. equal

D.depending on the liquid , sometimes

less, sometimes more

Answer: A

° Watch Video Solution

11. The Zurin's law for a liquid is


https://dl.doubtnut.com/l/_VYj5Ss7iZuiy
https://dl.doubtnut.com/l/_ZGFOjZtfOqqO

A.rh = constant

B.r2h = constant

C.7 /h = constant

D.r3h = constant

Answer: A

o Watch Video Solution

12. A frame made of a metallic wire enclosing a

surface area A is covered with a soap film . If


https://dl.doubtnut.com/l/_ZGFOjZtfOqqO
https://dl.doubtnut.com/l/_D1SCeInDeTAD

the area of the frame of metallic wire will be

changed by

Al

B.0.5

C.0.75

D. 0.25

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_D1SCeInDeTAD

13. Calculate the force required to separate
the glass plates of area 10~ ?m? with a film of
water 0.05 mm thickness between them

(surface tension of water
=170 x 107°N/m))

A.7N

B.28 N

C.10N

D.14 N

Answer: B


https://dl.doubtnut.com/l/_efTQaYhMIUI4

° Watch Video Solution

14. Energy needed in breaking a drop of radius

R into n drops of radii r is given by

A 4r (r2n — R2)T

4 4
B. (371'7"27?, — §7TR3)T
C. 47T(R2 — rz)nT

D. 4w (4n — R*)TP

Answer: A

| 8 l


https://dl.doubtnut.com/l/_efTQaYhMIUI4
https://dl.doubtnut.com/l/_OQ41nE4m8I1A

15. Small droplets of a liquid are usually more

spherical in shape than larger drops of the

same liquid because

A. of the gravitational force acting on the

drop

B. of the atmospheric pressure

C. volume of a spherical drop is minimum


https://dl.doubtnut.com/l/_OQ41nE4m8I1A
https://dl.doubtnut.com/l/_5B5VNbgs5MYy

D.the liquid surface tends to have a

minimum surface area

Answer: D

o Watch Video Solution

16. A drop of water is broken into two droplets
. The sum of which property of the two drops

is equal to that of the single one ?

A. surface energy


https://dl.doubtnut.com/l/_5B5VNbgs5MYy
https://dl.doubtnut.com/l/_VZckbVwd9OoP

B. radius of the molecule

C.volume

D. surface tension

Answer: C

o Watch Video Solution

17. If two drops of a liquid are merged to form
a single drop, then the energy in this process

will be


https://dl.doubtnut.com/l/_VZckbVwd9OoP
https://dl.doubtnut.com/l/_heU5XCz40py3

A. released

B. absorbed

C. remains constant

D. can not be predicted

Answer: A

o Watch Video Solution

18. Molecules on the surface of the liquid have

A. maximum kinetic energy


https://dl.doubtnut.com/l/_heU5XCz40py3
https://dl.doubtnut.com/l/_prmQDbRfIrv8

B. maximum potential energy

C. minimum kinetic energy

D. minimum potential energy

Answer: B

o Watch Video Solution

19. Detergents in hot water enable grease to

be removed from the dishes by

A. raising the surface tension of water


https://dl.doubtnut.com/l/_prmQDbRfIrv8
https://dl.doubtnut.com/l/_0YdUYI1SyCIu

B. changing te angle of contact between

grease and dish to an obtuse angle

C.changing the angle to an acute angle

D. increasing the temperature of water

Answer: C

o Watch Video Solution

20. The work done to split a big drop into n
number of identical droplets all of the same

size will be


https://dl.doubtnut.com/l/_0YdUYI1SyCIu
https://dl.doubtnut.com/l/_nuvzrx78xpoj

C n1/3—1)
D. ('n,3 — 1)
Answer: C

o Watch Video Solution

21. A number of small drops of mercury
adiabatically coalesce to form a single drop.

The temperature of the drop will


https://dl.doubtnut.com/l/_nuvzrx78xpoj
https://dl.doubtnut.com/l/_kjo7bo4j8mjI

A. increases

B. decreases

C. remains unchanged

D. may decrease or increase depending

upon size

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kjo7bo4j8mjI

22. When salt is added to pure water , the

suface tension

A. iIncreases

B. decreases

C. may increase depending upon salt

D. can not be predicted

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pKVilEKeskvH
https://dl.doubtnut.com/l/_LiMOVxyzL4gh

23. When a small quantity of partially soluable

impurity is added to water , then the surface

tension of water

A. increases

B. decreases

C. may increase depending upon salt

D. can not be predictd

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LiMOVxyzL4gh
https://dl.doubtnut.com/l/_wEDMSCRV2vl1

24.Soap helps in cleaning clothes, because

A. it reduces the surface tension of liquid

B. it gives strength to solution

C. it absorbs the dirt

D. chemical of soap changes

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wEDMSCRV2vl1

25. If a wax coated capillary tube is dipped in

water, then water in it will-

A.rise up

B. depress

C. sometimes rise and sometimes fall

D. rise up and come out as a fountain

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6hBcEtnOi7nQ
https://dl.doubtnut.com/l/_AzVLzrLzsoUM

26. When two capillary tubes of different

diameters are dipped vertically, the rise of the

liquid is

A.same in both tubes

B. more in tube of larger diameter

C. more in tube of smaller diameter

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AzVLzrLzsoUM
https://dl.doubtnut.com/l/_wmo7XN5j26yd

27.The work done in blowing a soap bubble of
radius 0.02 cmis ,

A.12.56 x 1077

B.25.12 x 107

C.251.2 x 10~

D.6.28 x 107

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wmo7XN5j26yd

28. If work W is done in blowing a bubble of
radius R from a soap solution. Then the work
done is blowing a bubble of radius 2R from
the same solution is

A2W

B.W/2

C.4W

D. W/4

Answer: C

‘ ° Wiak~lh \AAA CAaliikianm



https://dl.doubtnut.com/l/_BEqunrqrIVy6

VVCILLIL VI IVAGINIE L J)

29. The ratio of the work done in blowing the

soap bubbles of radii in the ratio 1:2 is,

Al:4

B.4:1

C.1:2

D.2:1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BEqunrqrIVy6
https://dl.doubtnut.com/l/_MNoKMIuZ2LDy

30. The work done in blowing a soap bubble of
radius 5 cm is

A.750)

B.1570 |

C.1.57 x 10%erg

D.1.57 x 10%erg

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MNoKMIuZ2LDy
https://dl.doubtnut.com/l/_2twzbhvjpHLK

31. The ration of the work done in blowing the

soap bubbles of diameter in theratio4:5 s,

A4:2

B.16: 25

C.20:4

D.10:4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rq0if3FojLmx
https://dl.doubtnut.com/l/_zBmnsNQh871r

32. A mercury drop of radius 1 cm is broken

into 10° droplets of equal size. The work done
N

is (T =35 x 107*2)
m

A 4.35 x 1072
B.4.35 x 109
C.4.35 x 1079

D.4.35 x 108

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zBmnsNQh871r
https://dl.doubtnut.com/l/_CQzDKuNLTlC1

33. Surface tension of a soap solution is
1.9 x 10 >N /m. Work done in blowing a
bubble of 2.0 cm diameter will be

A. 45.54m x 10°

B.15.21 x 109

C.1.97 x 10~9

D. 17 x 10~ 4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CQzDKuNLTlC1

34.n number of water droplets, each of radius
r, coalese, to form a single drop of radius R.

The rise in temperature d@ is

2T
A —
rJ

B3T1 1
“pJ \ 7 R

—3T
rJ

D3T 1_|_1
“pJ \r R

Answer: B

C.

o Watch Video Solution



https://dl.doubtnut.com/l/_LK9g6mjh9TqE

35. A soap bubble of radius 1/,/mcm is
expanded to radius 2/,/mcm. Calculate the

work done. Surface tension of soap solution

— 30dyne cm .

A. 120 erg
B.360 erg
C.720 erg

D. 240 ergs

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_C73VdGw0A16D

36. A spherical liquid drop of radius R is
divided into eight equal droplets. If the
surface tension is 7', then the work done in
this process will be

A 8TR’T

B.3nR°T

C.4wR*T

D. 2w RT'?


https://dl.doubtnut.com/l/_C73VdGw0A16D
https://dl.doubtnut.com/l/_rRwShoX8VomE

Answer: C

o Watch Video Solution

37. The surface tension of a liquid is 5 Newton
per metre. If a film is held on a ring of area
0.02metres?, its surface energy is about :

A 1071

B.2.5 x 10

C.20 x 1072

D.3 x 1071


https://dl.doubtnut.com/l/_rRwShoX8VomE
https://dl.doubtnut.com/l/_fekSE97zOyqI

Answer: C

o Watch Video Solution

38. The radius of a soap bubble is r. the surface
tension of soap solution is T, keeping
temperature constant, the radius of the soap
bubble is doubled the energy necessary for

this will be-

A 241 R2T

B. 87T


https://dl.doubtnut.com/l/_fekSE97zOyqI
https://dl.doubtnut.com/l/_c2QSSROuXUAg

C.1277r%T

D. 167r°T

Answer: A

o Watch Video Solution

39. A drop of liquid of diameter 2.8 mm breaks
up into 125 identical drops. The change in

energy is nearly (S.T. of liquid =75 dynes / cm))

A.100 erg


https://dl.doubtnut.com/l/_c2QSSROuXUAg
https://dl.doubtnut.com/l/_09vKvLaOdck3

B.19 erg

C.46 erg

D.74 erg

Answer: D

o Watch Video Solution

40. The surface energy of a liquid drop is E. It
is sprayed into 1000 equal droplets. Then its

surface energy becomes


https://dl.doubtnut.com/l/_09vKvLaOdck3
https://dl.doubtnut.com/l/_fONHPAuEfWMe

A E

B.10 E

C.100 E

D. 1000 E

Answer: B

o Watch Video Solution

41. 8000 identical water drops are combined

to form a big drop then the ratio of the final


https://dl.doubtnut.com/l/_fONHPAuEfWMe
https://dl.doubtnut.com/l/_FNENpLS045gy

surface energy to the initial surface energy of

all the drops together is

A 20:1

B.1:19

C.1:20

D.19:1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FNENpLS045gy

42. The surface energy of liquid film on a ring

of area 0.15m? is (surface tension of liquid

5Nm 1)

A.0.75)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uIweRf9TKzzx

43. The surface tension of soap solution is
2.1 x 1072 N/m . Then the work done in
blowing a soap bubble of diameter 3.0 is

A 4.4 x 1075

B.11.9 x 107

C.8.95 x 10?)

D.23.10 79

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_q93ed5AsZj6p

44, A ring of radius 0.75 cm is floating on the
surface of water . If surface tension of water is
0.07 N/m the force required to lift the ring
from the surface of water will be

A.66 x 10" N

B.66 x 10 2N

C.1.05 x 103 N

D.66 x 10 4N

Answer: D

I o Watch Video Solution


https://dl.doubtnut.com/l/_NmkxJt9dZiKE

45. A mercury drop of radius 1 cm is sprayed
into 10° drops of equal size. The energy
expended in joule is (surface tension of
mercury is (460 x 10" °N /m)

A.5.7

B.5.7 x 10~

C.0.057

D.5.7 x 10~


https://dl.doubtnut.com/l/_NmkxJt9dZiKE
https://dl.doubtnut.com/l/_C8S9BCL93wsJ

Answer: C

o Watch Video Solution

46. If a drop of water of radius 0.1 cm is broken
up into a million droplets all of the same size,

then the energy expended in the process will

be

A.197m erg

B. 297 erg

C. 397w erg


https://dl.doubtnut.com/l/_C8S9BCL93wsJ
https://dl.doubtnut.com/l/_Xy4ITe6K06ru

D. 4977 erg

Answer: B

° Watch Video Solution

47.The work done in blowing a soap bubble of
a radius 0.02 cm m to radius 0.04 m will be

A 4.22 x 10™*)

B.5.84 x 10

C.8.45 x 10™%]


https://dl.doubtnut.com/l/_Xy4ITe6K06ru
https://dl.doubtnut.com/l/_5Xhw3geNES7I

D.6.45 x 104}

Answer: C

° Watch Video Solution

48. What will be the work done in blowing a
soap bubble of radius Tcmto 2 cm ?

(If surface tension of soap solution is

25 x 1073 N/m)

A 61 x 10° |


https://dl.doubtnut.com/l/_5Xhw3geNES7I
https://dl.doubtnut.com/l/_VznTgJBJEFr9

B. 6m x 10°
C.24m x 1077 |

D.20 x 10%

Answer: A

o Watch Video Solution

49. What will be the work done in blowing a
soap bubble of radius 2 cm , the surface
tension of the soap solution is 20 dyne/cm at

constant temperature ?


https://dl.doubtnut.com/l/_VznTgJBJEFr9
https://dl.doubtnut.com/l/_nJAsxFCN6sLD

A. 3207 erg

B. 6407 erg

C. 12407 erg

D. 1607 erg

Answer: B

o Watch Video Solution

50. A big drop of radius R is formed by 1000
small droplets of water, then the radius of

small drop is


https://dl.doubtnut.com/l/_nJAsxFCN6sLD
https://dl.doubtnut.com/l/_c1otlsO5bOzy

Answer: D

o Watch Video Solution

51. If work done in blowing a bubble of radius

R is in a soap solution , then the work done in


https://dl.doubtnut.com/l/_c1otlsO5bOzy
https://dl.doubtnut.com/l/_Y9j8MKSJhA4p

blowing a bubble of radius halved in same

solution would be,

A2W

B.W/2

C.4 W

D. W/4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Y9j8MKSJhA4p

52. Eight droplets of water each of radius 0.5
mm when coalesce into single drop , then the
change in surface energy will be,

A4rT x 107° )

B. 47T x 107 )

C.47T x 10~9

D. 47T x 10~8]

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_871fTSRcfuRS

53.The surface energy of a liquid drop is U . If

it is sprayed into 125 identical drops , then the

total surface energy will be

A.20U

B.22 U

C.5U

D.25U

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1SQOFWTRlZNs

54. If 64 raindrops combine into a single drop .

The ratio of total surface energy of 64 drops

to that of a single drop is

A.64:1

B.3:1

C.16:1

D.4:1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nEEPiReP7ns8

55. The surface tension of a liquid is 0.5 N/m .
If a liquid film is formed on a ring of area 0.02
m? then its surface energy will be

A.0.01

B.0.02)

C.0.03)

D.0.04 ]

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uTvBvUe0VXtV

56. A soap film in formed on a frame of area
4 x 10 3m?. If the area of the film in reduced
to half, then the change in the potential
energy of the film is (surface tension of soap
solution = 40 x 10 °N /m)

A. 160)

B. 160 x 10~°)

C.80 x 109

D.1.6 x 10~ %

Answer: D


https://dl.doubtnut.com/l/_JnAz1bb5EOz4

° Watch Video Solution

57. The surface energy of a soap film formed

on a frame of area
2 x 107*m?is(T = 40 x 10~ ° N/m)

A. 16 x 1079

B.32 x 109

C.16 x 10~4

D. 32 x 10%

Answer: A


https://dl.doubtnut.com/l/_JnAz1bb5EOz4
https://dl.doubtnut.com/l/_NbNeSDWBNW7X

° Watch Video Solution

58. The surface energy of a liquid drop is E. It
is sprayed into 1000 equal droplets. Then its
surface energy becomes

A. 10E,

B.E, /2

C. E

D. 1000E,

Answer: A


https://dl.doubtnut.com/l/_NbNeSDWBNW7X
https://dl.doubtnut.com/l/_v8rB0wX3GJKT

° Watch Video Solution

59. The surface tension of soap solution is
10 x 102 n/m . The amount of work done in
blowing a soap bubble of radius 2 cmis
A.10.04 x 10™*)
B.10.4 x 10 °)

C.10.04 x 1073

D. zero

Answer: A


https://dl.doubtnut.com/l/_v8rB0wX3GJKT
https://dl.doubtnut.com/l/_fooFHqxT08xo

° Watch Video Solution

60. A spherical drop of oil of radius 1 cm is
broken into 1000 droplets of equal radii. If the
surface tension of oil is 50 dynes / cm , the

work done is

A. 18w erg

B. 1807 erg

C. 18007 erg

D. 180007 g


https://dl.doubtnut.com/l/_fooFHqxT08xo
https://dl.doubtnut.com/l/_eJHkigAajYTA

Answer: C

o Watch Video Solution

61. Work W is required to form a bubble of
volume V from a given solution. What amount

of work is required to be done to form a

bubble of volume 2V ?

AW

B.2/3W

C.2W


https://dl.doubtnut.com/l/_eJHkigAajYTA
https://dl.doubtnut.com/l/_aCbJUjugmQcm

D.41/3W

Answer: D

° Watch Video Solution

62. The amount of work performed to break a
spherical drop of radius 1 mm into million
drops of equal radius , is

A9 x 1077

B.90 x 107


https://dl.doubtnut.com/l/_aCbJUjugmQcm
https://dl.doubtnut.com/l/_SYWIkRK1yimo

C.9 x 109

D.9 x 10~

Answer: A

° Watch Video Solution

63. A film is held on a ring of area 0.05 m? of
liquid of surface tension 0.05 N/m then the

surface energy is

A 25]


https://dl.doubtnut.com/l/_SYWIkRK1yimo
https://dl.doubtnut.com/l/_8zIZctWjy4C1

B.0.01)
C.0.9]

D.25 x 10~ %

Answer: D

o Watch Video Solution

64.The work done is breaking a water drop of
radius 1 cm into 64 equal droplets

(Surface tension of water is 0.07 N/m)


https://dl.doubtnut.com/l/_8zIZctWjy4C1
https://dl.doubtnut.com/l/_4hYeYE4lXaYY

A.1.6 x 1074
B.264 x 10~
C.2.64 x 10~4

D.5.28 x 10 %)

Answer: C

o Watch Video Solution

65. The radius of a soap bubble is reduced rom
5 cm to 1 cm . Then the change in surface

energy of the bubble is


https://dl.doubtnut.com/l/_4hYeYE4lXaYY
https://dl.doubtnut.com/l/_eeH6e6eRXQWL

Alx 1073
B.1.2 x 1073
C.2.4 x 1073

D.2.8 x 1073

Answer: B

o Watch Video Solution

66. A thin soap film is formed in a recangular

2

frame of area 15 x 10~ *m? . The energy


https://dl.doubtnut.com/l/_eeH6e6eRXQWL
https://dl.doubtnut.com/l/_AcQoUvivGbTy

required to increase its area to 35 x 10~ *m?

IS
A6 x 107?)
B.12 x 107
C.20 x 107 %

D.25 x 104

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_AcQoUvivGbTy

67. A capillary tube is radius 0.02 cm is dipped
vertically in a beaker containing mercury . The
level of mercury in the tube with respect to
the mercury level in the beaker will be

(Given density of mercury 13.5 g/cc ,Surface

tension 540 dyne/cm and the angle of contact

135° )

A. 2.88 cm below

B. 2.88 cm above

C.4.08cm below


https://dl.doubtnut.com/l/_Pl2oq7UTcoWe

D. 4.08 cm above

Answer: A

° Watch Video Solution

68. A liquid film is formed over a ring of area
0.02 x 10*c¢m? . The surace energy is
(Given surface tension of liquid = 0.5 N/m)

A.0.03 )

B.0.01)


https://dl.doubtnut.com/l/_Pl2oq7UTcoWe
https://dl.doubtnut.com/l/_zuiq09UvZeVk

C.0.02

D. 0.002 )

Answer: C

° Watch Video Solution

Multiple Choice Questions Angle Of Contact

1. When a liquid is in contact with a solid the

angle between the surface of the solid and the

tangent drawn to the surface of the liquid at


https://dl.doubtnut.com/l/_zuiq09UvZeVk
https://dl.doubtnut.com/l/_l7FukRWDVdKF

the point of contact , measured in the side of

the liquid is

A. acute angle

B. obtuse angle

C. angle of contact for liquid pair

D. solid angle

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_l7FukRWDVdKF

2. A liquid which partially wet the solid , the

angle of contact is

A. obtuse

B. infinity

C. acute

D. zero

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kjEKNU26sWoE
https://dl.doubtnut.com/l/_74eFMsrgnUFn

3. A liquid will not wet the surface of a solid if

the angle of contact is

A. acute

B. unity

C. obtuse

D. zero

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_74eFMsrgnUFn

4. A liquid which completely wet the solid , the

angle of contact is ,

A. infinite

B. any finite values

C. zero

D. not defined values

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AkQKX4hb1IIH
https://dl.doubtnut.com/l/_dtVwHZDCRI0g

5. For impure water - glass surface , the angle

of contact is

A.0° to 10°

B. 18°

C.38°

D. 48°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dtVwHZDCRI0g

6. A liquid will not wet the surface of a solid if

the angle of contact is

A. zero

B. less than 90°

C. more than 90°

D.90°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gH7ekO6KvSKR
https://dl.doubtnut.com/l/_HquRf4SftCoV

7. When liquid does not rises in a capillary

tube , the angle of contact is

A.O

B. obtuse

C.90°

D. 180°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HquRf4SftCoV

8. The angle of contact is obtuse when liquid

A. does not wet the solid

B. partially wet the solid

C. wets the solid

D. wholly wet the solid

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jTz0Bkv1Zjdy

9. The meniscus of mercury in the capillary

tube is

A. concave

B. convex

C.plane

D. cylindrical

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0JMEWJbbQKXv
https://dl.doubtnut.com/l/_Hhez1ZWazYBL

10. The angle of contact for pure water and

clean glass surface is

A. zero

B.90°

C.15°

D.137°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Hhez1ZWazYBL

11. The angle of contact between liquid and

solid does not depend upon

A. the nature of the liquid and solid

B.the angle of inclination to the solid

liquid surface

C.the medium which exists below the free

surface of the liquid

D. the cleanness and freshness of the two

surface in contact


https://dl.doubtnut.com/l/_gTy62vXgg6nC

Answer: B

o Watch Video Solution

12. A capillary tube of radius r is placed in a
liquid I the angle of contact is 8, the radius of
curvature R of the meniscus in the capillary is
Ar
B.7sinf

C.7/cos6

D.r cos 0


https://dl.doubtnut.com/l/_gTy62vXgg6nC
https://dl.doubtnut.com/l/_DoGXRnHORZwa

Answer: C

o Watch Video Solution

13. The angle of contact between a solid and a

liquid is a characteristic property of

A. solid only

B. liquid only

C. both the solid and liquid

D. shape of the solid


https://dl.doubtnut.com/l/_DoGXRnHORZwa
https://dl.doubtnut.com/l/_PKeoP7odApTz

Answer: C

o Watch Video Solution

14. A water proofing agent chages the angle of
contact from

A. obtuse to acute value

B. acute to obtuse value

C. obtuse to /2

D. acute to 7 /2


https://dl.doubtnut.com/l/_PKeoP7odApTz
https://dl.doubtnut.com/l/_IGLEZCDBlKjL

Answer: B

o Watch Video Solution

15. Which one of the following represents

correctly the variations of surface tension with

temperature 0 ?

AT x6

B.T oc 1

C.T x 6?

D.T o 62


https://dl.doubtnut.com/l/_IGLEZCDBlKjL
https://dl.doubtnut.com/l/_ihGHV0UDcjZU

Answer: B

o Watch Video Solution

16. Nature of meniscus for liquid having angle

of contact as 0° is

A. plane

B. parabolic

C. cylindrical

D. hemispherical


https://dl.doubtnut.com/l/_ihGHV0UDcjZU
https://dl.doubtnut.com/l/_xNIh9zZ5yacb

Answer: D

o Watch Video Solution

17. A liquid rises in a capillary tube when the

angle of contact is:

A. acute

B. obtuse

C.90°

D. zero


https://dl.doubtnut.com/l/_xNIh9zZ5yacb
https://dl.doubtnut.com/l/_P1OifhpqkTv1

Answer: A

o Watch Video Solution

18. When a cylindrical tube is dipped vertically
into a liquid the angle of contact is 140° .
When the tube is dipped with an inclination of
40° the angle of contact is

A.100°

B. 140°

C.180°


https://dl.doubtnut.com/l/_P1OifhpqkTv1
https://dl.doubtnut.com/l/_GcR91b3ySZoO

D.60°

Answer: B

° Watch Video Solution

19.If the lower end of a capillary tube touches
a liquid whose angle of contact is 90° , then
the liquid

A.rises in to tybe

B. falls in the tube


https://dl.doubtnut.com/l/_GcR91b3ySZoO
https://dl.doubtnut.com/l/_WHJ49nOQwZxR

C. may rise or fall in tube

D. neither rises nor falls inside the tube

Answer: D

o Watch Video Solution

20. The liquid meniscus in a capillary tube will

be convex, if the angle of contact is

A. greater than 90°

B. less than 90°


https://dl.doubtnut.com/l/_WHJ49nOQwZxR
https://dl.doubtnut.com/l/_EzibSw3oh6y6

C.equal to 90°

D. equal to 0°

Answer: A

o Watch Video Solution

21. If a glass rod is dipped in mercury and
withdrawn out, the mercury does not wet the

rod because

A. the angle of contact is small


https://dl.doubtnut.com/l/_EzibSw3oh6y6
https://dl.doubtnut.com/l/_SbwCZbdGagVh

B. cohesive force is greater than the

adhesive force

C. cohesive force is less than the adhesive

force

D. density of mercury is higher than that of

glass

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SbwCZbdGagVh

22. Angle of contact varies between

A.0 to 2m
B.wm/2 to 3m/2
C.O to «

D.m to 27

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bl8CJyeoStER

23. A glass plate is partly dipped vertically in

the mercury and the angle of contact is

measured. If the plate is inclined, then the

angle of contact will

A. iIncreases

B. decreases

C. remains unchanged

D.first increases and then become

constant


https://dl.doubtnut.com/l/_nRnzYQFSwxO6

Answer: C

o Watch Video Solution

24. The temperature of a liquid in a vessel is

gradually raised the angle of contact

A. increases

B. remains unchanged

C.decreases

D. becomes zero


https://dl.doubtnut.com/l/_nRnzYQFSwxO6
https://dl.doubtnut.com/l/_7YZbNZoGpExw

Answer: C

o Watch Video Solution

25. An imaginary line is a drawn in a liquid

surface . At what angle with the line , the

surface tension acts ?

A.O

B.90°

C.180°

D. 45°


https://dl.doubtnut.com/l/_7YZbNZoGpExw
https://dl.doubtnut.com/l/_zW1oeXlLVzLL

Answer: A

o Watch Video Solution

Multiple Choice Questions Shape Of Liquid Drop

1. Small droplets of a liquid are usually more
spherical in shape than larger drops of the
same liquid because

A. force of surface tension is equal and

opposite to force of gravity


https://dl.doubtnut.com/l/_zW1oeXlLVzLL
https://dl.doubtnut.com/l/_H8DYPPW1z9gr

B. force of surface tension predominates

the force of gravity

C. force gravity predominates the force of

surface tension

D. force of gravity and surface tension are

equal and in same direction

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_H8DYPPW1z9gr

2. If a water drop is kept between two glass

plates, then its shape is

. B
.S
» @
=

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wLS5fB3QNooz

3. Drops of liquid tend to assume spherical

shapes because

A. the surface tension free

B. the viscous force

C. the gravity effect

D. the elastic force

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wLS5fB3QNooz
https://dl.doubtnut.com/l/_rmbS7JMCvLID

4.When there are no external forces, shape of

the liquid is determined by

A. surface tension of the liquid

B. density of the liquid

C. viscosity of air

D. temperature of air

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nRjgimKJC03d
https://dl.doubtnut.com/l/_59rqleNa0nvq

5. A mass of metal is molded into solids of

different shapes . Its surface area is the least

when it is

A. a sphere

B. a right circular cylinder

C. a paraboloid

D. a right circular cone

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_59rqleNa0nvq
https://dl.doubtnut.com/l/_JTdUKSXx5GAy

6. If two soap bubble of different radii are in

communication with each other

A.air flows from the larger bubble into

smaller bubble until they have the same

size

B.the size of the bubbles remains the

same

C. air flows from smaller bubble into larger

bubble and the larger size of the smaller

bubble decreases


https://dl.doubtnut.com/l/_JTdUKSXx5GAy

D. air may flow from the smaller into the

larger or from the larger into smaller

depending upon the concentration of

the soap solution .

Answer: C

o Watch Video Solution

7.Rain drops are sphrical because of

A. surface tension


https://dl.doubtnut.com/l/_JTdUKSXx5GAy
https://dl.doubtnut.com/l/_4sDTRHMfgGS0

B. capillarity

C. downward motion

D. acceleration due to gravity

Answer: A

o Watch Video Solution

8. Let 17 be surface tension between solid and
air, T5 be the surface tension between solid
and liquid and T be the surface tension

between liquid and air. Then in equilibrium, for


https://dl.doubtnut.com/l/_4sDTRHMfgGS0
https://dl.doubtnut.com/l/_CqEek2NyX2dG

a drop of liquid on a clean glass plate, the

correct relation is (6 is angle of contact)

T
A.cos O =
Ty + T
T
B.cos @ =
T, — 1>
C.cos @ = i+ T
T
t, — T
D.cos = 2 2
T

Answer: D



https://dl.doubtnut.com/l/_CqEek2NyX2dG

\ o Watch Video Solution

9. If the liquid is mercury (drop ) then

AT, < T,
B. Ty > T}

C. Tl — T2

T+ T

D.T
2

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_CqEek2NyX2dG
https://dl.doubtnut.com/l/_7Xot7qWGLyhs

10. Writing on black board with a piece of

chalk is possible by the property of

A. cohesive force

B. adhesive force

C. surface tension

D. viscosity

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mnIQSIDdoqdI
https://dl.doubtnut.com/l/_OIn7B4MDGCHm

11. The work done in forming a soap film of size
10cm x 10 cm will be , it if the surface tension
of soap solution is 3 x 102 N/m

A 3 X 0_4J

B.3 x 102

C.6 x 107

D.6 x 103}

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_OIn7B4MDGCHm
https://dl.doubtnut.com/l/_VyTGjcozCX9V

12. When a soap bubble is charged :-

A. it contracts

B. it expands

C. it does not under go any change in size

D. can not judge

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VyTGjcozCX9V

13. An astronaut tries to fill ink in an ink pen in

an artificial satellite . The ink

A. will be filled into the pen

B. will not be filled

C. filling will depend upon the quality of ink

D. will fill slowly

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yWmassD4fQCy

Multiple Choice Questions Capillarity And

Capillary Action

1. Plants get water through the roots because

of

A. elasticity

B. capillarity

C. viscosity

D. photosynthesis

Answer: B

| oo |


https://dl.doubtnut.com/l/_fuL5v7rabwMu

| & Watch Video Solution

2. A tube of capillary whose lower end is
dipped in liquid and the liquid rises to a
height of 10 cm . If one end of a capillary of the
same bore and height 5 cm is dipped in the
liquid then
A. a fountain of the liquid will be obtained
B. the liquid will not rise in the tube at all

C.the liquid will rise up to the top and

slowly creep


https://dl.doubtnut.com/l/_fuL5v7rabwMu
https://dl.doubtnut.com/l/_4qphUM9b2sBw

D. the liquid rises up to the top and stops

Answer: D

o Watch Video Solution

3. If a capillary tube is dipped and the liquid
levels inside and outside the tube are same.
Then the angle of contact is

A 17°

B.0°


https://dl.doubtnut.com/l/_4qphUM9b2sBw
https://dl.doubtnut.com/l/_uqh6iTmhdei8

C.90°

D. 138°

Answer: B

° Watch Video Solution

4.1t is difficult to write legibly on a news paper

because of

A. capillarity

B. viscosity


https://dl.doubtnut.com/l/_uqh6iTmhdei8
https://dl.doubtnut.com/l/_TVX5bVtEAY0n

C. surface tension

D. inhertia

Answer: A

o Watch Video Solution

5. The reason of capillarity is due to

A. surface tension force

B. viscus force

C. gravitational force


https://dl.doubtnut.com/l/_TVX5bVtEAY0n
https://dl.doubtnut.com/l/_n7x5MW0rJc7h

D. capillary action

Answer: D

° Watch Video Solution

6. The rise of liquid in a capillary tube depends

on:

A. radius of capillary only

B. nature of liquid only

C. angle of contact only


https://dl.doubtnut.com/l/_n7x5MW0rJc7h
https://dl.doubtnut.com/l/_vFToB04Nurfp

D.radius , nature of liquid and angle of

contact

Answer: D

o Watch Video Solution

7. Capillary action is due to

A. difference in pressure of capillarity

B. due to cohesive force and adhesive force

C. due to gravitational force


https://dl.doubtnut.com/l/_vFToB04Nurfp
https://dl.doubtnut.com/l/_ZtIgERfdEKYj

D. more in a tube of a larger diameter

Answer: A

o Watch Video Solution

8. In Acca lamp , oil rises through the wick ,

due to

A. viscosity

B. rigidity

C. capillarity


https://dl.doubtnut.com/l/_ZtIgERfdEKYj
https://dl.doubtnut.com/l/_OqIcnvB7BeGs

D. surface tension

Answer: C

o Watch Video Solution

9. When two capillary tubes of different

diameters are dipped vertically, the rise of the

liquid is

A.same in both the tubes

B. more in tube of larger diameter


https://dl.doubtnut.com/l/_OqIcnvB7BeGs
https://dl.doubtnut.com/l/_2NIBl4PB4z4E

C. less in tube of smaller diameter

D. more in the tube of smaller diameter

Answer: D

o Watch Video Solution

10. The cause of surface tension is

A. intermolecular forces

B. interatomic forces

C. viscous force


https://dl.doubtnut.com/l/_2NIBl4PB4z4E
https://dl.doubtnut.com/l/_mD2UrmgOO38L

D. gravitational force

Answer: A

o Watch Video Solution

1. When a capillary tube stands in water ,
water rises to a certain height in the tube . A
similar experiment is done using another
liquid and it is found that the liquid rises more
than the water

This difference might be due to


https://dl.doubtnut.com/l/_mD2UrmgOO38L
https://dl.doubtnut.com/l/_T8u3yILXFGW7

A. the liquid has density greater than that

of water

B. the tube used in the second experiment

is larger bore

C.the temperature of the liquid is higher

than that of water

D. the surface tension of liquid is greater

than that of water

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_T8u3yILXFGW7

12. How does ploughing help to retain some

water of soil ?

A. by creatng capillaries

B. by breaking capillaries

C. by turning the soil upsides and down

D.can not judge from the above

information

Answer: B



https://dl.doubtnut.com/l/_T8u3yILXFGW7
https://dl.doubtnut.com/l/_ZTjHbmiLHjz8

¥ Watch Video Solution ]

13. A capillary is dipped into a liquid which

does not wet , the liquid level

A.remains the same in capillary as normal

liquid level

B. changes in the capillary

C.rises in he capillary than normal liquid

D.fall in the capillary than normal liquid

level


https://dl.doubtnut.com/l/_ZTjHbmiLHjz8
https://dl.doubtnut.com/l/_HkNYj5sY0Dh1

Answer: D

o Watch Video Solution

14. Kerosene oil rises up the wick in a lantern

A. diffusion of the oil through the wick

B. surface tension

C. buoyance force of air

D. the gravitational pull of the wick

Answer: B


https://dl.doubtnut.com/l/_HkNYj5sY0Dh1
https://dl.doubtnut.com/l/_bwQSjNwnkVwk

° Watch Video Solution

15. If a wax coated capillary tube is dipped in

water, then water in it will-

A.rise up

B. depress

C. sometimes rise and sometimes fall

D. rise up and come out as a fountain

Answer: B

| 8 l


https://dl.doubtnut.com/l/_bwQSjNwnkVwk
https://dl.doubtnut.com/l/_LbToZvQH8DK3

16. A capillary tube is made of water proof
material and is dipped in water taken in a
beaker . The level of water in the capillary tube
will be

A. equal to water level in the beaker

B. less than the water level in the beaker

C. more than the water level in the beaker

D. more than the water level in the beaker


https://dl.doubtnut.com/l/_LbToZvQH8DK3
https://dl.doubtnut.com/l/_ATnEyYrVTgJ9

Answer: A

o Watch Video Solution

17. A square wire frame of L is dipped in a
liquid, on taking out a membrane is formed. If
the surface tension of liquid is T, force acting
on the frame will be

A 2TL

B.4 TL

C.8TL


https://dl.doubtnut.com/l/_ATnEyYrVTgJ9
https://dl.doubtnut.com/l/_pMkDeZqbCFoY

D.10 TL

Answer: C

o Watch Video Solution

18. A capillary tube is dipped in a water

container , so that loss in weight of the

capillary tube is

A. equal to the upward buoyant force

B. less than upward buoyant force


https://dl.doubtnut.com/l/_pMkDeZqbCFoY
https://dl.doubtnut.com/l/_ZeAUSxqGcXiS

C. more than the upward buoyant force

D. half of the buoyant force

Answer: A

o Watch Video Solution

19. A capillary tube when immersed vertically in
a liquid records a rise of 3cm.if the tube is
immersed in the liquid at an angle of 60° with
the vertical, then find the length of the ligiud

column along the tube.


https://dl.doubtnut.com/l/_ZeAUSxqGcXiS
https://dl.doubtnut.com/l/_sJmyaVLXU8Dn

A.3cm

B.4.5 cm

C.6cm

D.7.5cm

Answer: C

o Watch Video Solution

20. If a vessel has a small hole at the bottom
of radius 4 mm, then the rise of water in a

vessel without leakage will be


https://dl.doubtnut.com/l/_sJmyaVLXU8Dn
https://dl.doubtnut.com/l/_U72EdaHSuM9S

(ST = 72 dyne/cm

cm/s’p = 1g/em?)

A.0.36 cm
B.0.367 m
C.0.0367 cm

D. zero

Answer: A

1000

o Watch Video Solution



https://dl.doubtnut.com/l/_U72EdaHSuM9S

21. Two capillaries A and B are dipped in water
and held vertical . The diameter of A is twice
that of B . The ratio of the heights to which

water rises in A and B is

A2:1
B.1:2
C.4:1

D.1:4

Answer: B

I o Wiadk h \AAA CAaliikianm



https://dl.doubtnut.com/l/_aCkLOpp8W2o3
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22. f the surface tension of water is 7 x 102
N/m then the rise of water is 7 x 10”2 N/m
then the rise of water in a capillary tube of
diameter 0.35 mm will be

A.4 cm

B.2cm

C.8cm

D.3.5cm


https://dl.doubtnut.com/l/_aCkLOpp8W2o3
https://dl.doubtnut.com/l/_JGi68RpvnEXV

Answer: C

o Watch Video Solution

23. A capillary tube when immersed vertically
into a liquid records a rise of 3 cm . If the tube
is held immersed in the liquid at an angle of
30° with the vertical , the liquid column along

the tube will be

A. 3. 464 cm

B.3 cm


https://dl.doubtnut.com/l/_JGi68RpvnEXV
https://dl.doubtnut.com/l/_H7QxE9yxe7gi

C.4.5cm

D.7.5cm

Answer: A

o Watch Video Solution

24. A capillary tube is dipped in water and the
water rises in it to a height h . If r be the

radius of the bore of the tube , then

Ahxr


https://dl.doubtnut.com/l/_H7QxE9yxe7gi
https://dl.doubtnut.com/l/_SqKyiqJ3mpC8

B.hx1/r
C.h x 12

D.h o< 1/77

Answer: B

o Watch Video Solution

25. Water rises in a capillary tube through a
height [. If the tube is inclined to the liquid
surface at 30° the liquid will rise in the tube

upto it's length equal to


https://dl.doubtnut.com/l/_SqKyiqJ3mpC8
https://dl.doubtnut.com/l/_dCcINUpkewMC

A.h/2

B.h

C.2h

D.4h

Answer: C

o Watch Video Solution

26. A soap film of surface tension
3 x 10" 2N /m formed in a rectangular frame

can support a straw as shown in Fig. If


https://dl.doubtnut.com/l/_dCcINUpkewMC
https://dl.doubtnut.com/l/_gujm8E9yNEqr

g = 10ms ~ 2, the mass of the straw is

B.60 g

C.6bg

D.0.6g

Answer: D


https://dl.doubtnut.com/l/_gujm8E9yNEqr

° Watch Video Solution

27. Water rises to a height of 30 mm in a
capillary tube , if the radius of the capillary
tube is made (3/4)" of the previous value ,
then the height to which the water rise in the

tube will be

A.30 mm
B.40 mm

C.20 mm


https://dl.doubtnut.com/l/_gujm8E9yNEqr
https://dl.doubtnut.com/l/_SVvBGnyCPgmW

D. 10 mm

Answer: B

° View Text Solution

28. Water rises to height of 5 cm in glass

capillary tube . If the area of cross section of

1
the tube is reduced to (1_6) th of the former

value , the water rises to a height of

A. 20 cm


https://dl.doubtnut.com/l/_SVvBGnyCPgmW
https://dl.doubtnut.com/l/_Zu5l32FRXSCv

B.30 cm

C.80cm

D.40 cm

Answer: A

o Watch Video Solution

29. In a capillary tube , water rises to a height
of 4 cm If its cross section area were one forth

, the water would have to rises a height of


https://dl.doubtnut.com/l/_Zu5l32FRXSCv
https://dl.doubtnut.com/l/_YzS92U3GiaD9

A.2cm

B.6cm

C.4 cm

D.8 cm

Answer: D

o Watch Video Solution

30. A liquid rises to a height of 9 cm in a glass
liquid column in a glass capillary of radius 0.03

cm is


https://dl.doubtnut.com/l/_YzS92U3GiaD9
https://dl.doubtnut.com/l/_AwmrpDD4n8PC

A.13.5cm

B.9cm

C.6cm

D.12 cm

Answer: C

o View Text Solution

31. A liquid rises in a capillary tube of radius r
upto height h and tha mass of liquid is 20 gm .

If a the radius of capillary tube is half and


https://dl.doubtnut.com/l/_AwmrpDD4n8PC
https://dl.doubtnut.com/l/_TTwkVDf7vvTS

height is twice , then the new mass of a liquid
will be,

A.10 gm

B.80 gm

C.20gm

D.40 gm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_TTwkVDf7vvTS

32. Water rises to a height of 5 cm when a
narrow glass tube is dipped vertically in it . If
the tube is inclined at 60° to the vertical ,

then the rise of water in the capillary tube will

be

A.5cm

B.10 cm

C.7.5cm

D.2.5cm

Answer: B


https://dl.doubtnut.com/l/_g9b97kERY46y

° Watch Video Solution

Multiple Choice Questions Expression For

Surface Tension

1. The graph between the height of liquid in a

capillary tube against the radius of the tube

for a liquid , then the graph is

A. a straight line passing through origin

with a positive slope


https://dl.doubtnut.com/l/_g9b97kERY46y
https://dl.doubtnut.com/l/_u4ToxildhWwT

B.a straight line passing through origin

with a negative slope

C. arectangular hyperbola

D. a parabola

Answer: C

o Watch Video Solution

2. The height of liquid column in capillary tube
is h the radius of capillary tube is r.p is the

density of liquid , g is acceleration due to


https://dl.doubtnut.com/l/_u4ToxildhWwT
https://dl.doubtnut.com/l/_8KXiggwm4n6z

gravity and 6 is angle of contact

tension of the liquid is

rh
At = Py
2 cos 0
2cos 6
B.T = r
hpg
2cos 6
C.T =
rphg
D. all of these
Answer: A

. The surface

o Watch Video Solution



https://dl.doubtnut.com/l/_8KXiggwm4n6z

3.1t is possible to produce a fair stable vertical

soap film solution but not of pure water . The

correct reason is

A. the angles of contact are different

B. water is denser than soap solution

C.the surface tension of soap solution is

less that of pure water

D. soap solution has larger surface tension

than pure water


https://dl.doubtnut.com/l/_cvXCLuSyedaF

Answer: C

o Watch Video Solution

4. Water rises in a capillary tube to a height h.

It will rise to a height more than h

A. on the surface of moon

B. in a stationary lift

C. at the poles of earth

D. in a lift moving up with an acceleration a


https://dl.doubtnut.com/l/_cvXCLuSyedaF
https://dl.doubtnut.com/l/_vK7EpKoJjGWA

Answer: A

o Watch Video Solution

5. Which of the following graphs may
represent the relation between capillary rise h

and the radius r of the capillary


https://dl.doubtnut.com/l/_vK7EpKoJjGWA
https://dl.doubtnut.com/l/_8WIS9XXY9qT5

=

C. r
1A
D. T
Answer: A

° Watch Video Solution

6. A capilary tube is kept vertical and made to
touch the surface of the liquid of surface

tension T . If the radius of the capillary tube is


https://dl.doubtnut.com/l/_8WIS9XXY9qT5
https://dl.doubtnut.com/l/_vOpf8I9nBnDt

'r' . Then the force on the wall of the capillary

tube is

A mr’T

B. 2mwrT

C.4mrT

D. zero

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vOpf8I9nBnDt

7.The rise of liquid in a capillary tube depends

on:

A. the pressure outside the capillary

B. the inner radius of the tube

C. the outer radius

D. all of the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_k6phLwBbcRQt
https://dl.doubtnut.com/l/_3KqhlJdJntWV

8. The height of water level in a capillary tube

on the surface of earth is h . If the whole

arrangemaent is taken to a gravity free space ,

the liquid level will

A. remain unchanged

B. decreases

C.increases a little

D. continous to rise

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3KqhlJdJntWV

9. A vertical U tube has two limbs of unequal
radii are 5 cm and 0.1 respectively . The tube is
partly filled with mercury of density 13.6 g/cm3
and surface tension is 550 dyne /cm . Assume

the two levels of the limbs is
A. zero
B.1.1cm

C.1.61 cm

D.0.4 cm


https://dl.doubtnut.com/l/_3KqhlJdJntWV
https://dl.doubtnut.com/l/_4MogdlWujkyv

Answer: D

o Watch Video Solution

10. If the liquid rises in a capillary tube of
radius 01 mm to a height of 6 cm . The angle
of contact between the glass and turpentine is
17° and density of is 870 kg/m® , g = 9.8
m /s* . Then the surface tension of turpentine

is, ( cos 17 = 0.9563)

A.0.026 N/m


https://dl.doubtnut.com/l/_4MogdlWujkyv
https://dl.doubtnut.com/l/_WuplQqvCwlkR

B.2.6 N/m

C.0.26 N/m

D. 2.6 dyne/cm

Answer: A

o Watch Video Solution

1. If a liquid of specific fravity 1, rises to a
height of 2.5 cm in a capillary tube , then
another liquid of specific gravity 1.25 will rise

to the height in the same tube will be


https://dl.doubtnut.com/l/_WuplQqvCwlkR
https://dl.doubtnut.com/l/_CJmPohafdZrW

A.1cm

B.2cm

C.1.25 cm

D.1.5cm

Answer: B

o Watch Video Solution

12. If a capillary tube of diameter 0.4 m is
dipped vertically into water, then the height to

which water rises in the capillary tube will be,


https://dl.doubtnut.com/l/_CJmPohafdZrW
https://dl.doubtnut.com/l/_rkRTZOzog6xV

A.7.143 cm

B.0. 013 cm

C.714.3 cm

D.7143 cm s

Answer: A

o Watch Video Solution

13. A capillary tube is ipped in water . It rises to
height of 4 cm above the surroundings liquid .

If the angle of caontact is zero and radius of


https://dl.doubtnut.com/l/_rkRTZOzog6xV
https://dl.doubtnut.com/l/_zeeyNERob7tU

tube is 0.4 mm , then the surface tension of

liquid will be

A. 78.4 dyne/cm

B.7.84 dyne / cm

C. 784 dyne/cm

D. 72 dyne/cm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zeeyNERob7tU

14. U - shaped film of a liquid is formed
between a wire frame and movable wire 5 cm
long. Then the force required to hold the wire
in equilibrium is
(Surface tension of liquid is 0.024 N/m)
A.2.4x 107N
B.24 x 10 ° N

C.2.4 x 103 dyne

D.2.4 x 103 dyne/cm

Answer: A


https://dl.doubtnut.com/l/_zPCRY78D3b3H

° Watch Video Solution

15. A capillary tube of uniform bore is dipped
vertically in water which rises by 7 cm in tube .
Then the radius of capillary tube is (S.T of
water is 70 dyne/cm , g = 1000 cm/529 = OO)
A.0.2 mm
B.2 mm

C.0.2cm

D.2cm


https://dl.doubtnut.com/l/_zPCRY78D3b3H
https://dl.doubtnut.com/l/_4jztd7Maxa1P

Answer: A

o Watch Video Solution

16. A capillary tube of radius r is immersed in
water and water rises in to a height h. The
mass of water in the capillary tube is 5g.
Another capillary tube of radius 2 r s
immersed in water. The mass of water that will

rise in this tube is

Ab5g


https://dl.doubtnut.com/l/_4jztd7Maxa1P
https://dl.doubtnut.com/l/_s1rHvF7IhgKZ

B.15g

C.10g

D.20 g

Answer: C

o Watch Video Solution

17. Water rises to a height of 10cm in a
capillary tube and mercury falls to a depth of
3.42cm in the same capillary tube. If the

density of mercury is 13.6g/c.c. and the


https://dl.doubtnut.com/l/_s1rHvF7IhgKZ
https://dl.doubtnut.com/l/_TldFiza9ENGt

angles of contact for mercury and for water
are 135° and 0°, respectively, the ratio of
surface tension for water and mercury is

A.1:0.15

B.1:3

C.1:6.8

D.1:5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TldFiza9ENGt
https://dl.doubtnut.com/l/_jHP60YdHGKhZ

18. A capillary tube of radius R is immersed in
water and water rises in it to a height H . Mass
of water in the capillary tube is . M If the
radius of the tube is doubled, mass of water

that will rise in the capillary tube will now be

A.2m

C.m/2

D.4 m

Answer: A



https://dl.doubtnut.com/l/_jHP60YdHGKhZ

I 0 Watch Video Solution

19. A U-shaped wire is dipped in a soap
solution, and removed. A thin soap film formed
between the wire and a light slider supports a
weight of 1.5 x 10 2N (which includes the
small weigh of the slider). The length of the
slider is 30cm. What is the surface tension of

the film?

A2 x 102 N/m,

B.2.5 x 1072 N/m


https://dl.doubtnut.com/l/_jHP60YdHGKhZ
https://dl.doubtnut.com/l/_tOeSnUJHhLcG

C.3 x 1072 N/m

D.3.5 X 102 N/m

Answer: B

o Watch Video Solution

20. If a capillary tube of radius 2 x 10~ % m is
is dipped vertically in a water of surface
tension 7 x 1072 N/m and density 10°kg/m®

then the height to which water rises will be


https://dl.doubtnut.com/l/_tOeSnUJHhLcG
https://dl.doubtnut.com/l/_z3T5SQwBZODc

A7 x 1072 cm

B.0.7 X 10 2 cm

C.14 x 10 %2 cm

D.1.4 x 10 2 cm

Answer: A

o Watch Video Solution

21. Pure water rises in a capillary tube upto a
height of 8 cm . If surface tension of water and

acceleration due to gravity are 80 dyne/cm


https://dl.doubtnut.com/l/_z3T5SQwBZODc
https://dl.doubtnut.com/l/_7k1Lr0qmy5nm

and 1000 cm / s* respectively , then the radius
of capillary tube will be

A.2cm

B.0.2cm

C.20cm

D.0.02 cm

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7k1Lr0qmy5nm

22. A capillary tube of internal radius 2 x 103
m immersed vertically in beaker containing a
liquid rising in the capillary tube is 9 x 10° kg,
the surface tension of the liquid is

A.70 N/m

B.7 N/m

C.0.7N/m

D.0.07N/m

Answer: D

‘ ° Wiak~hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_yfo3np8bZrXr
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23. The capillary rises are found to be in the
ration of 3:2 when two capillary tubes are
immersed in water of surface tension
7.2 x 107% N/m . The ratio of the bore
diameters of the capillary tubes is

A2:3

B.3:2

C.4:9

D.9:4


https://dl.doubtnut.com/l/_yfo3np8bZrXr
https://dl.doubtnut.com/l/_CblsUTDSxIW0

Answer: A

o Watch Video Solution

24. A narrow capillary tube when dipped in
beaker containing water, the rise is 20 cm . If
the area of cross section of the bore is
reduced to (1/4)™ calue , water will rise to a

height of

A. 10 cm

B.20 cm


https://dl.doubtnut.com/l/_CblsUTDSxIW0
https://dl.doubtnut.com/l/_ABVlpJhAiX5c

C.40cm

D. 80 cm

Answer: C

o Watch Video Solution

25. The U-tabe with limbs of diameters 5 mm
and 2 mm contains water of surface tension
7 x 10"2Nm . The angle of contact is zero
and density 10°kgm 3. If g is 10ms 2 then,

the difference in levela in the twa limbs is


https://dl.doubtnut.com/l/_ABVlpJhAiX5c
https://dl.doubtnut.com/l/_fjKvvWG1gu1z

A. 8.4 cm

B. 8.4 mm

C.8.4m

D.0.84 mm

Answer: B

o Watch Video Solution

26. Water rises to a height of 2 cm in a
capillary tube . If its diameter is made (2/3)™,

the water will now rise to a height of


https://dl.doubtnut.com/l/_fjKvvWG1gu1z
https://dl.doubtnut.com/l/_CS5QnGyqFtZc

A.6cm

B.3cm

C.2/3 cm

D.3/2 cm

Answer: B

o Watch Video Solution

27. Surface tension of water is 0.07 N/m . The

weight of water supported by the surface


https://dl.doubtnut.com/l/_CS5QnGyqFtZc
https://dl.doubtnut.com/l/_rNJefx9zCBrS

tension in a capillary tube of radius 1 x 10~ *

m will be

A. 440 x 10" % N
B.44 x 10~ °N
C.44 x 10" SN

D.0.44 x 1 — 0~ °N

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rNJefx9zCBrS

28. If a capillary tube is 45° and 60° from the
vertical then the ratoio of lengths [; and [,

liquid columns in it will be

Al:4/2
B.1/2:1
C.2:1

D.1:4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_su6TfeDCg76b

29. Alcohol of density 8 x 10*kg/m*® and
surface tension 22 x 102 N/m rises through
a capillary tube of diameter 0.4 x 1072 m .
The vertical height to which the alcohol will
rise is ,

A28 x 10~ *m

B.2.8 x 10 *

C.0.28 x 10 *m

D.0.28 x 10 *m

Answer: B


https://dl.doubtnut.com/l/_oqUvkmsHFc1B

° Watch Video Solution

30. When water rises in a capillary tube of
radius r to height h, then its potential energy
U, if capillary tube of radius 2r is dipped in
same water then potential energy of water is

U, then Uy : U, will be

Al:1

B.1:2

C.2:1


https://dl.doubtnut.com/l/_oqUvkmsHFc1B
https://dl.doubtnut.com/l/_lfnADGDH9MWQ

D.1:4

Answer: A

° Watch Video Solution

31. Water rises to a height h in a capillary tube
when dipped vartically . If another capillary
tube of the same material with half the bore
cross section is dipped vertically rise of water

in this case

A. 2h


https://dl.doubtnut.com/l/_lfnADGDH9MWQ
https://dl.doubtnut.com/l/_oKXj1xyrWbKY

Answer: C

o Watch Video Solution

32. Liquid drops are falling slowly one after the
other from a vertical capillary tube of bore
radius 'r' If W is weight of a liquid drop ,

surface tension of that liquid is


https://dl.doubtnut.com/l/_oKXj1xyrWbKY
https://dl.doubtnut.com/l/_zKBtNGR10HFz

AW /mr?
B. W /27r?
CW/nr

D.W /2mr

Answer: D

o Watch Video Solution

33. A capillary tube is placed vertically inside
the beaker of water of surface tension

7 x 1072 N/m and the angle of contact is 0° .


https://dl.doubtnut.com/l/_zKBtNGR10HFz
https://dl.doubtnut.com/l/_P21JvkcWD1uB

The height raised by the water in capillary

tube 7 x 102 m

The radius of the capillary tube is

A2 x 10 *m

B.0.2 X 10 *m

C.0.02 x 10 *m

D.0.002 x 10" % m

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_P21JvkcWD1uB
https://dl.doubtnut.com/l/_k4fOquheeHAd

34. Water rises to a height of 10cm in a glass
capillary tube. If the area of cross section of
the tube is reduced to one fourth of the
former value what is the height of water rise
now?

A.5cm

B.10 cm

C.20cm

D.2cm

Answer: C



https://dl.doubtnut.com/l/_k4fOquheeHAd

I O Watch Video Solution

35.1000 small drops of water each of radius 'r'
are joined together to form a single drop of
water During the process the change in
energy has raised the temerature . If T is the
surface tension of the water , d is density, the

rise in temperature is

100T
A.
Jr

5 2.7T
"~ Jrd

10T
C.
Jr



https://dl.doubtnut.com/l/_k4fOquheeHAd
https://dl.doubtnut.com/l/_ysVIrFtbGLSl

Answer: B

° Watch Video Solution

36. Two capillary tubes of diameters 1 mm and
2 mm are dipped in water . The rise in water
level in 1 mm tube is 1.4 cm . The rise in

another tube will be

A. 14 cm


https://dl.doubtnut.com/l/_ysVIrFtbGLSl
https://dl.doubtnut.com/l/_hH4x8krBb6M2

B.0.7 cm

C. 2.8cm

D.0.28 cm

Answer: B

o Watch Video Solution

37. Two capillary tubes of radius 0.5 mm and 1
mm when dipped in a liquid of surface tension
49 dyne / cm vertically, it is observed that the

liquid level difference is found to be 1.25 cm in


https://dl.doubtnut.com/l/_hH4x8krBb6M2
https://dl.doubtnut.com/l/_pDsopqeeL5OB

the tubes . Then the density of the liquid will

A.0.08 g/cc

B.0.8 g/cc

C.0.04g/cc

D.0.4g/c

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pDsopqeeL5OB

38. A clean plate of length 98 cm and
thickness 0.2 m is in contact with the water . It
appears to weigh 3000 dyne . When the plate
is greasy and the angle of contact is 180° , it
appears to weigh 6000 dyne . Then the surface

tension is

A.75 dyne/cm

B. 225 dyne/cm

C. 3000 dyne/cm

D. 750 dyne/cm


https://dl.doubtnut.com/l/_4wsbnbpp8GR0

Answer: A

o Watch Video Solution

39. A capillary tube of length 10 cm and
diameter of the bore is 0.5 mm dipped inwater
vertically with one fourth of its total length
outside the water . The radius of curvature of
the meniscus will be (T = 75 dyne/cm and g =

1000 cm / 5°)

A. 0.2 mm


https://dl.doubtnut.com/l/_4wsbnbpp8GR0
https://dl.doubtnut.com/l/_QsnPoE9HRjKU

B. 0.02mm

C.0.6mm

D. 0.8mm

Answer: C

o Watch Video Solution

Multiple Choice Questions Excess Pressure Due

To Surface Tension

1. The excess pressure inside a soap bubble is


https://dl.doubtnut.com/l/_QsnPoE9HRjKU
https://dl.doubtnut.com/l/_VatXblnWg5O2

A. inversely proportional to S.T

B. directly proportional to S.T

C. inversely proportional to its radius

D.both 'b'and 'c

Answer: D

o Watch Video Solution

2. The excess pressure inside the drop of a
liquid of surface tension T and radius of drom

ris


https://dl.doubtnut.com/l/_VatXblnWg5O2
https://dl.doubtnut.com/l/_tjTdscHjU336

A 4T/

B.2T/r

C.r/2T

D. r/4T

Answer: B

° Watch Video Solution

3. Internal pressure inside a liquid drop of

radius r and surface tension T is


https://dl.doubtnut.com/l/_tjTdscHjU336
https://dl.doubtnut.com/l/_8diYRCwO4VAI

2T

A — — Py
T
4T
B. — + F,
r
2T
CFP+ —
T
T
D.— — P,
4y 0
Answer: C

o Watch Video Solution

4. Excess pressure inside a soap bubble of

radius r and surface tension T is


https://dl.doubtnut.com/l/_8diYRCwO4VAI
https://dl.doubtnut.com/l/_lFNXRkpUIq2A

Answer: B

° Watch Video Solution

5. Which of the following statement is not

correct about a soap bubble ?


https://dl.doubtnut.com/l/_lFNXRkpUIq2A
https://dl.doubtnut.com/l/_Ra6Onty7RRiA

A.work done in forming the bubble of

radius and surface tension T is 8T R>T

B. work done in doubling the radius of a

bubble of radius R and surface tension T

is 24T Rt

C. pressure inside a bubble is greater than

inside a drop of the same radius and of

same liquid

D. pressure inside a bubble is less than

outside the bubble for same radius and


https://dl.doubtnut.com/l/_Ra6Onty7RRiA

surface tension

Answer: D

° Watch Video Solution

6. When a drop of liquid splits upto a number

of drops,

A. volume increases and area decreases

B. area increases and energy liberated

C. energy is absorbed


https://dl.doubtnut.com/l/_Ra6Onty7RRiA
https://dl.doubtnut.com/l/_fdScAt7Qbufy

D. area increases and energy absorbed

Answer: D

° Watch Video Solution

7. Excess pressure can be (21" / R) for

A. spherical drop in air
B. spherical bubble in water

C. cylindrical bubble in air


https://dl.doubtnut.com/l/_fdScAt7Qbufy
https://dl.doubtnut.com/l/_PJdEk08lG3DY

D.spherical drop in air and spherical

bubble in water

Answer: D

o Watch Video Solution

8. Capillary does not exist when the liquid is at

A. its boiling point

B. its freezing point

C.the angle of contact is 45°


https://dl.doubtnut.com/l/_PJdEk08lG3DY
https://dl.doubtnut.com/l/_JeCwXHlxacOk

D. at its boiling and its frrzing points

Answer: D

° Watch Video Solution

9.If for a liquid in a vessle, force of a cohesion

is twice of adhession :

A. the meniscus will be concave

B. the angle of contact will be obtuse and

there will be capillarity descent the


https://dl.doubtnut.com/l/_JeCwXHlxacOk
https://dl.doubtnut.com/l/_YiSUk6wAnknu

liquid will wet the solid

C.no change in liquid level

D. no change in liquid level

Answer: B

o Watch Video Solution

10. The oil is sprinkled on sea waves to calm

them down. Why ?


https://dl.doubtnut.com/l/_YiSUk6wAnknu
https://dl.doubtnut.com/l/_SJo0nWjp6PlA

A. surface tension of water decreases so

that oil spreads over water

B.surface tension of water increases so

that water spreads over

C. does not affect the surface tension

D. only water surface increases

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SJo0nWjp6PlA

11. The hot soup taste better than cold soup ,

surface tension of hot soup is

A. greater than surface tension of cold

soup

B. less than surface tension of cold soup so

that

C. less than surface tension of cold soup so

that hot soup spreads over larger area

than cold soup.


https://dl.doubtnut.com/l/_meEvbEP65p46

D. equal to surface tension of cold soup so

that hot soup spreads over larger area

than cold sup.

Answer: C

o Watch Video Solution

12. If more aire is pushed in a soap bubble the

pressure in it

A. decreases


https://dl.doubtnut.com/l/_meEvbEP65p46
https://dl.doubtnut.com/l/_gsX6JCFccA0H

B. increases

C.remains the same

D.is zero

Answer: A

o Watch Video Solution

13. The pressure just below the meniscus of

mercury compared to pressure just above is

A. greater


https://dl.doubtnut.com/l/_gsX6JCFccA0H
https://dl.doubtnut.com/l/_Au7YdgLgbPKA

B. less

C.same

D. always atmospheric

Answer: A

o Watch Video Solution

14. Two tooth - pricks are floating very near
and parallel to each other on the surface of

water . If a third prick submerged in solution


https://dl.doubtnut.com/l/_Au7YdgLgbPKA
https://dl.doubtnut.com/l/_kgVzBz1toXix

of detergent is touched with the water

between the floating pricks , then the pricks

A. move farther away

B. come closer

C. remain in same position

D. are first attracted and then repelled

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kgVzBz1toXix

15. If two soap bubbles of different radii are

connected by a tube

A. air does not flow from one bubble to

another

B. air flow from the bigger bubble to the

smaller one

C.air flows from the smaller one to the

bigger one


https://dl.doubtnut.com/l/_ume1PPVXivs9

D. air flows from the bigger bubble to the

smaller one till their radii are
interchanged
Answer: B

o Watch Video Solution

16. If more air is brown into a soap bubble, the

pressure

A. Increases


https://dl.doubtnut.com/l/_ume1PPVXivs9
https://dl.doubtnut.com/l/_bApEoRuaxp1J

B. ramains same

C.decreases

D. become zero

Answer: C

o Watch Video Solution

17. Excess pressure inside a drop of water of
radius 2 mm , is 70 N/m? . The pressure in a

drop of radius 4 mm is


https://dl.doubtnut.com/l/_bApEoRuaxp1J
https://dl.doubtnut.com/l/_8Q3hgCQddoCD

A.55N /m?
B.35N /m?
C.45n /m?

D. 25N /m?

Answer: B

o Watch Video Solution

18. The excess pressure inside one soap bubble

is three times that inside a second bubble. The


https://dl.doubtnut.com/l/_8Q3hgCQddoCD
https://dl.doubtnut.com/l/_UNhCLnmlCaux

ratio of the volume of first bubble to that of

the second

A 1:27

B.9:1

C.1:9

D.27:1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UNhCLnmlCaux

19. Two spherical soap bubbles of a radii 1 cm
and 2 cm vacuum coalesce under isothermal

conditions . The resultant bubble has a radius
of

A.2/./5cm

B./5cm

C. /3 cm

D. /6 cm

Answer: B

‘ o Wiak~hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_ghGMYtrkKWz5
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20. Two capillary tubes of radii 0.2 cm and 0.4
cm are dipped in the same liquid. The ratio of
height through which liquid will rise in the
tube is

A l:2

B.1:4

C.2:1

D.1:4


https://dl.doubtnut.com/l/_ghGMYtrkKWz5
https://dl.doubtnut.com/l/_VoNevgXZrYg2

Answer: C

° Watch Video Solution

21. Two separate air bubbles (radii 0.002cm
and 0.004) formed of the same liquid (surface
tension 0.07N /m) come together to form a
double bubble. Find the radius and the sense
of curvature of the internal film surface

common to both the bubbles.

A.0.004 m


https://dl.doubtnut.com/l/_VoNevgXZrYg2
https://dl.doubtnut.com/l/_ZYkhixYNBMvr

B.0.04 m

C.0.002 m

D.0.02m

Answer: A

o Watch Video Solution

22. A soap bubble in vacuum has a radius of
3cm and another soap bubble in vacuum has a

radius of 4em. If the two bubbles coalesce


https://dl.doubtnut.com/l/_ZYkhixYNBMvr
https://dl.doubtnut.com/l/_TiOAHEoZfthp

under isothermal conditions then the radius

of the new bubble is :

A.12 cm

B.16 cm

C.25cm

D.5cm

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_TiOAHEoZfthp

23. What is pressure due to surface tension in
spherical drop of glycerin of diameter 2.8 mm
? Surface tension of glycerin is 0.063 N/m

A. 70N /m?

B. 90N /m?

C. 80N /m?

D. 100N /m?

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hVfzznqgEhvc

24. A soap bubble of radius 102 m is formed .
The surface tension of the soap bubble is 0.04
N/m The excess of pressure inside the bubble
is

A. 160N /m?

B. 16N /m?

C.1.6N /m?

D.0.16N /m?

Answer: B

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_u08bE8LhCaw3

25. The ratio of excess pressure inside a soap

bubble to the excess of pressure inside an air

bubble in a soap solution is

A.l:2

B.2:1

C.1:1

D.1:4

Answer: B

| s ]


https://dl.doubtnut.com/l/_u08bE8LhCaw3
https://dl.doubtnut.com/l/_skqciyXMP0bu

| ¥ Watch Video Solution

26. If the surface tension of water is
7.3 x 1072 N/m then the excess pressure
inside a spherical drop of water of radius
1 x 10~ m formed will be

A.14.6N /m?

B. 146N /m?

C. 1460N / m?

D. 14600N / m?


https://dl.doubtnut.com/l/_skqciyXMP0bu
https://dl.doubtnut.com/l/_ZS0RjGqNAixG

Answer: B

o Watch Video Solution

27. Pressure inside two soap bubble are 1.02
and 1.03 atm . Then ratio of their volumes is

A 8:27

B.27:8

C.(1.02)%: (1.03)

D. (1.03)°: (1.02)


https://dl.doubtnut.com/l/_ZS0RjGqNAixG
https://dl.doubtnut.com/l/_nB5QPURZFG9Q

Answer: B

o Watch Video Solution

28. The spherical liquid bubble of diameter
4 x 103 m has inner and outer pressure as
1.005 and tension of the Iquid of the liquid is
A. 250 N/m
B. 25N/m

C.2.5N/m

D.0.25 N/m


https://dl.doubtnut.com/l/_nB5QPURZFG9Q
https://dl.doubtnut.com/l/_mRwGjbV0JHBy

Answer: D

o Watch Video Solution

29. Two soap bubble of radii 3 mm and 4 mm

are in contact radius of curvature of interface

between those two bubbles is

A.Tmm

B.7 mm

C.12 mm

D. 12/7 mm


https://dl.doubtnut.com/l/_mRwGjbV0JHBy
https://dl.doubtnut.com/l/_JZkXjRblOF3m

Answer: C

o Watch Video Solution

30. Two soap bubbles of radii T mm and 2 mm
merge isothermally . Then radius of the new
bubble formed would be

A.3 mm

B.2/3 mm

C.3/2 mm

D. /5 mm


https://dl.doubtnut.com/l/_JZkXjRblOF3m
https://dl.doubtnut.com/l/_osJfHeuBRmim

Answer: D

o Watch Video Solution

31. The excess pressure inside a soap bubble of
volume V is P . Then excess pressure inside a
soap bubble of volume 2V is

A p

B.2!/3pP

c.p/2t/3

D. P/1


https://dl.doubtnut.com/l/_osJfHeuBRmim
https://dl.doubtnut.com/l/_D6hDTW4DsNCE

Answer: C

o Watch Video Solution

32. If the volume of two soap bubbles are Vv

and 8V bubbles is

Al:4

B.4:1

C.1:2

D.2:1


https://dl.doubtnut.com/l/_D6hDTW4DsNCE
https://dl.doubtnut.com/l/_orTebNhhmcqE

Answer: D

o Watch Video Solution

33. The volumes of three soap bubbles are in

the ratio of 27:64:125. Then ratio excess

pressures in then is

A 3:4:5

B.5:4:3

C.20:15:12

D.12:15:20


https://dl.doubtnut.com/l/_orTebNhhmcqE
https://dl.doubtnut.com/l/_9p7TYAsdlfNs

Answer: C

o Watch Video Solution

34. At 20° C the radius of mercury drop is 3
mm and its surface tension is 4.65 x 101
N/m What is the excess of pressure inside the
drop ?

A.310N /m?

B. 210N /m?

C. 110N /m?


https://dl.doubtnut.com/l/_9p7TYAsdlfNs
https://dl.doubtnut.com/l/_kXYtZAOrLgom

D. 10N /m?

Answer: A

° Watch Video Solution

35. What would be the excess pressure in side
a small air bubble of 0.2 mm diameter situated
just below the surface of water ? (S.T of water

=0.072 N/m)

A. 1. 44 x 10% Pa


https://dl.doubtnut.com/l/_kXYtZAOrLgom
https://dl.doubtnut.com/l/_4bEP7a7jp2Ap

B.1..44 x 10°Pa

C.1.44 x 10*Pa

D.1.44 x 10°Pa

Answer: B

o Watch Video Solution

36. If the surface tension of a soap water is
0.04 N/m Then excess pressure inside a 10 mm

diameter soap bubble in N /m? will be


https://dl.doubtnut.com/l/_4bEP7a7jp2Ap
https://dl.doubtnut.com/l/_e7sV93Lf3A3v

A 4

B. 16

C.8

D. 32

Answer: D

° Watch Video Solution

37. The rise of a liquid due to surface tension

in a narrow capillary tube of diameter 'd' is 'h’


https://dl.doubtnut.com/l/_e7sV93Lf3A3v
https://dl.doubtnut.com/l/_1eNVZTMrUZnc

If the diameter is reduced to d/2 , the rise will

be

A.h

B. 2h

C.h/2

D.h/3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1eNVZTMrUZnc

38. P is the excess pressure inside a water drop
. If that drop is divided into 8 indentical
droplets , excess pressure inside smaller
droplet is

A P

B.P/2

C.2P

D. P/8

Answer: C

‘ o Wiak hh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_h3ugsMIHEuvO
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39. The level of liquid in a capillary tube is

plane,because

A F adhesive — F cohesive

B. F, adhesive — F cohesive

C. F. adhesive < F cohesive

D. Fadhesive = Fcohesi've/\/§

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_h3ugsMIHEuvO
https://dl.doubtnut.com/l/_XKKyNxJ8nakC

40. Two soap bubbles are blown. In first soap

bubble excess pressure is 4 times of the

second soap bubble. The ratio of the radii of

the first and second soap bubble is

A l1:4

B.1:2

C.2:1

D.4:1

Answer: A



https://dl.doubtnut.com/l/_XKKyNxJ8nakC
https://dl.doubtnut.com/l/_wP3JgNGKc38k

\ o Watch Video Solution

41. The bubbles have radii in the ratio 3 : 4. the

ratio of excess pressure inside them is

A4:3

B.3:4

C.2:1

D.4:1

Answer: A

l o Watch Video Solution


https://dl.doubtnut.com/l/_wP3JgNGKc38k
https://dl.doubtnut.com/l/_r1nCn2tAzlpn

42. A small air bubble of radius 01 mm is
situated at a depth of 10 m below the free

surface of water .The external pressure on the
bubble will be

A.0.5 x 10°N /m?

B.10°N /m?

C.2 x 10°N /m?

D.4 x 10°N /m?


https://dl.doubtnut.com/l/_r1nCn2tAzlpn
https://dl.doubtnut.com/l/_gF3H67AsuA3L

Answer: C

o Watch Video Solution

43. The exess pressure inside a drop of soap
solution is Pd and that inside a soap bubble of

same radius isP; then

A P; = P,
B. P, = 2P,
C. Pd — 2Pb

D. P, = 4P,


https://dl.doubtnut.com/l/_gF3H67AsuA3L
https://dl.doubtnut.com/l/_2OXZ0gfprBeY

Answer: B

o Watch Video Solution

44. If a small air bubble of radius 01 mm is
formed just below the surface of water, then
the pressure inside the air bubble will be

A.14 x 10*N /m?

B.1.014 x 10°N /m?

C.1.014 x 10°N /m?

D.1.14 x 10 °N /m?


https://dl.doubtnut.com/l/_2OXZ0gfprBeY
https://dl.doubtnut.com/l/_KTv0tMKTV0Xz

Answer: B

o Watch Video Solution

45, Pressure inside two soap bubbles are 1.01

and 1.02 atmospheres. Ratio between their

volumes is

A 2:1

B.1:2

C.8:1

D.1:8


https://dl.doubtnut.com/l/_KTv0tMKTV0Xz
https://dl.doubtnut.com/l/_i9eILfaJqCD0

Answer: C

° Watch Video Solution

46. When a capillary tube of radius r is dipped
vertically in a liquid of surface tension T, the
liquid rises to a height h in the tube above the
level outside the tube . If the angle of contact
is 6 the density of the liquid is p then the

pressure difference between the points A and


https://dl.doubtnut.com/l/_i9eILfaJqCD0
https://dl.doubtnut.com/l/_TLBcZU5m8pKy
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Answer: B



https://dl.doubtnut.com/l/_TLBcZU5m8pKy

I 0 Watch Video Solution I

47.The excess pressure inside a soap bubble P
and the radius R of the bubble are related as
Apx1l/R
B.Px R
C.P x R?

D.P x 1/R?

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_TLBcZU5m8pKy
https://dl.doubtnut.com/l/_rUUzJrLnbx8v

48. The excess pressure due to surface tension
inside a spherical drop is 6 . If 27 such drops
coalesce, the excess pressure inside the new
drop is

A.6N /m?

B. 18N /m?

C. 12N /m?

D.2N /m?

Answer: D


https://dl.doubtnut.com/l/_rUUzJrLnbx8v
https://dl.doubtnut.com/l/_NMc9Hi4zqbp8

° Watch Video Solution

49, The surface tension of soap water is 0.04

N/m. The excess pressure inside a 10 mm

diameter soap bubble in will be

A 4

B.8

C.16

D. 32

Answer: D


https://dl.doubtnut.com/l/_NMc9Hi4zqbp8
https://dl.doubtnut.com/l/_HwewlwhYfIWt

° Watch Video Solution

50. The excess pressure in dyne/ inside a liquid

drop of radius 2 mm and fsurface tension T is

AS5T

B.10T

C.15T

D.20T

Answer: B

| 8 l


https://dl.doubtnut.com/l/_HwewlwhYfIWt
https://dl.doubtnut.com/l/_4JY7A5crDFTy

51. A bubble of radius 10 cm is formed with a
solution that has surface tention What is the

excess pressure inside the bubble in

A.0.16

B. 16

C.1.6

D.10

Answer: C

[ 1


https://dl.doubtnut.com/l/_4JY7A5crDFTy
https://dl.doubtnut.com/l/_31LLFowIkHSd

I O Watch Video Solution

52. A hollow sphere has a small hole. When the
sphere is taken to a depth of 0.5 m inside
water the air bubbles started coming out from
the hole. If the surface tension of water is the
radius of the hole is

A.2.8 x 10 °m

B.1.35 x 10~ °m

C.0.67 x 10 °m

D.0.28 x 10 °m


https://dl.doubtnut.com/l/_31LLFowIkHSd
https://dl.doubtnut.com/l/_Sw4aDk0EXeRz

Answer: A

o Watch Video Solution

53. An air bubble of radius 0.1 mm is ready to
leave the surface of a lake. Then the pressure
inside in N /m? is (Surface tension of water :
70 x 1073 N/m,1atm=1 x 10°N /m?)

A. 1400N / m?

B.1.014 x 10°N /m?

C. 14N /m?


https://dl.doubtnut.com/l/_Sw4aDk0EXeRz
https://dl.doubtnut.com/l/_t371QIIUEoqq

D.1.014 x 10'N /m?

Answer: D

° Watch Video Solution

54. The excess pressure inside a soap bubble
of diameter 2 cm of soap solution of surface
tension

A. 100N /m?

B.10N /m?


https://dl.doubtnut.com/l/_t371QIIUEoqq
https://dl.doubtnut.com/l/_ZND7SXu9tSPK

C.1N/m?

D.0.1N /m?

Answer: B

o Watch Video Solution

55. In case of a liquid which does not wet a

solid surface , the force of adhesion

A. less than /2 times the force of cohesion


https://dl.doubtnut.com/l/_ZND7SXu9tSPK
https://dl.doubtnut.com/l/_ir3GTaX6W5Lc

B.more than +/2 times the force of
cohension

C.less than 1/4/2 times the force of
cohension

D.more than 1/4/2 times the force of

cohension

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ir3GTaX6W5Lc

56. The work done in increasing the radius of a

soap bubble fromRto 3R is

A 12n R2T

B. 64 R*T

C. 8T R’T

D. 167 R*T

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kAI0U1OeBe63
https://dl.doubtnut.com/l/_QRBQdiNVgHVb

57. Select the correct statement , if a liquid

surface is curved

A. the pressure on the concave side is less

than that on the convex side

B.the pressure on the concave side is

equal to pressure on convex side

C.the pressure on concave side is more

than that on convex side

D.the pressure on the comvex side is

atmospheric pressure


https://dl.doubtnut.com/l/_QRBQdiNVgHVb

Answer: C

o Watch Video Solution

58. If a drop of mercury , 2 mm in diameter is
broken up into 1000 small spherical droplets
all of the same size , then the work done in
this process will be,

A.5.2 x 10~°)

B.52 x 109

C.0.52 x 1079


https://dl.doubtnut.com/l/_QRBQdiNVgHVb
https://dl.doubtnut.com/l/_ap2I7XReBTao

D.520 x 107

Answer: A

° Watch Video Solution

59. Water rises to a height of 163 cm in a

capillary of height 18 cm above the water leve.

If the tube is cut at a height of 12 cm -

A. water will come as a fountain from the

capillary tube


https://dl.doubtnut.com/l/_ap2I7XReBTao
https://dl.doubtnut.com/l/_LDBJdfdwc6Zn

B. water will stay at a height of 12 cm in the

capillary tube

C.the height of water in the capillary tube

will be 10.3 cm

D. water will low down the sides of the

capillary tube

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LDBJdfdwc6Zn

60. Two capi" ary tubes , A and B are dipped
into a liquid which rises 8 cm and 4 cm
respectively above the outside level . Compare

the diameters of the tubes ,

0

O
©o|l—= N~ R RN

Answer: C

‘ ° Wiak lh \iAAA CAaliikianm



https://dl.doubtnut.com/l/_duDZdmsTonOx
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61. The force due to surface tension is

A. normal to free surface

B. normal to free surface downwards

C. along the free surface

D. at an angle of 60° with free surface

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_duDZdmsTonOx
https://dl.doubtnut.com/l/_1YbFG8v2ukJa
https://dl.doubtnut.com/l/_A6tFRe1MwZTn

62. How many free surfaces are there in a

liquid film ?

A.one

B. two

C. three

D. infinite

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_A6tFRe1MwZTn

63. Calculate the force required to separate
the glass plates of area 10~ ?m? with a film of
water 0.05 mm thickness between them

(surface tension of water
=170 x 107°N/m))

A.28 N

B.14 N

C.50N

D.38 N

Answer: A


https://dl.doubtnut.com/l/_kfaPbtOJhjSU

o Watch Video Solution

64. A wooden stick 2m long is floating on the
surface of water. The surface tension of water
0.07 N/m. By putting soap solution on one
side of the sticks the surface tension is
reduced to 0.06 N/m. The net force on the

stick will be

A.0.07N

B.0.06 N

C.0.0IN


https://dl.doubtnut.com/l/_kfaPbtOJhjSU
https://dl.doubtnut.com/l/_GXaqhw1cNzDs

D. 0.02N

Answer: D

o Watch Video Solution

Multiple Choice Questions Question Given In

Mht Cet

1. The surface tension of a liquid is 10° dyne

em ™ 1.1t is equivalent to

A. 10" N/m


https://dl.doubtnut.com/l/_GXaqhw1cNzDs
https://dl.doubtnut.com/l/_pMMg5v5lSIj8

B. 10°N/m
C. 10°N/m

D. 10*N/m

Answer: A

o Watch Video Solution

2. A capillary tube when immersed vertically in
a liquid records a rise of 3cm.if the tube is

immersed in the liquid at an angle of 60° with


https://dl.doubtnut.com/l/_pMMg5v5lSIj8
https://dl.doubtnut.com/l/_5eXlaE6tkXmp

the vertical, then find the length of the ligiud

column along the tube.

A.2cm

B.3cm

C.6cm

D.9cm

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5eXlaE6tkXmp

3. The rain are in spherical shape due to

A. surface tension of water is greater than

the weight

B. capillary

C. downward motion

D. acceleration due to gravity

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_koRwMyUDnikG
https://dl.doubtnut.com/l/_yZrFiYu6fJwg

4. Water can rise upto a height of 12 cm in a
capillary tube . If the tube is lowered to keep
only 9 cm above the water level then the water
at the upper end of the capillary will

A. overflow

B. form a convex surface

C. form a flat surface

D. form a concave surface

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yZrFiYu6fJwg

5. When a liquid rises inside a capillary tube ,

the weight of the liquid in the tube is

supported

A. by atmospheric pressure

B. partly by atmospheric pressure and

partly by surface tension

C.entirely by the force due to surface

tension


https://dl.doubtnut.com/l/_yZrFiYu6fJwg
https://dl.doubtnut.com/l/_72TjQNRilCjK

D.partly by the force due to surface

tension

Answer: C

o Watch Video Solution

6. The height of water in a capillary tube os
radius 2 cm is 4 cm . What should be the
radius of capillary, if the water rises to 8cm in

tube ?


https://dl.doubtnut.com/l/_72TjQNRilCjK
https://dl.doubtnut.com/l/_kh87uQKrN63u

A.1cm

B.0.1cm

C.2cm

D.4 cm

Answer: A

° Watch Video Solution

7. Two spherical soap bubbles of radii 7; and

ro In vacuume coalesce under isothermal


https://dl.doubtnut.com/l/_kh87uQKrN63u
https://dl.doubtnut.com/l/_1QPyMj2xSCSw

condition. The resulting bubble has radius R

such that

A.R:T1—|‘T2

r17T2

T1 + T2

B.R =

2 _ .2 2
C.R* =r{+r;

7°1—|—’I“2

D.R =

T2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1QPyMj2xSCSw

8. Amount of energy required to blow a bubble
radius 5 cm, is

A. 1.88 |

B.1.88 x 10~ )

C.1.88 x 102

D.1.88 x 10

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_a3uf33IBb8iX
https://dl.doubtnut.com/l/_vw3b0CH6e1f7

9. The dimensions of surface tension are
AL M T
B.[L> M T 7]
C.[L° M T 7

D.[L™' M T 7]

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vw3b0CH6e1f7

10. Two soap bubbles have radii in the ratio of

4:3 . What is the ratio of work done to blow

these bubbles ?

A4:3

B.16:9

C.9:16

D.3:4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_re5Jy2qjqcG7

11. If the surface of a liquid is plane, then the

angle of contact of the liquid with the walls of

container is

A. acute angle

B. obtuse angle

C.90°

D.0°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_SRDA8yzkvNNy

12. Work done is blowing a soap bubble of
diameter 2 cm, is

A.7.54 x 1077

B.7.54 x 109

C.7.54 x 103}

D.7.54)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_iUVO8oOpz2WC
https://dl.doubtnut.com/l/_j1pNj7MAWWld

13. The surface of water in contact with glass

wall is

A.plane

B. concave

C. convex

D. both 'b' and 'c'

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_j1pNj7MAWWld

14. Work done in forming a liquid drop of

radius R is W7 and that of radius 3R is W5. The

ratio of work done is

A 1:3

B.1:4

C.1:2

D.1:9

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_sP6NSczfMmmw

15. For liquid to rise in a capillary tube , the

angle of contact should be

A. obstuse

B. acute

C.180°

D.90°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5r17pW71VSXM
https://dl.doubtnut.com/l/_fSKZdWT5cav8

16. Out of the following , which is not an

example of capillary action

A. absorption of ink in blotting paper

B. floating of wood on water surface

C. rise of oil in wick of a lamp

D. ploughing of the field

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_fSKZdWT5cav8

17. If a liquid does not wet glass, its angle of

contact is

A. obtuse

B. acute

C.0°

D.90°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Yevrs8fxxzkO
https://dl.doubtnut.com/l/_EqOk02Bbah6u

18. The surface tension of soap solution is
0.035 N/m . The energy needed to increase the
radius of the bubble from 4 cm to 6 cm is

A 15x 1077

B.1.5 x 107?

C.3x 1072

D.1.5 x 10 %

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EqOk02Bbah6u
https://dl.doubtnut.com/l/_eTjgjmDWBtcX

19. A square frame of length L is immersed in

soap solution and taken out. The force

experienced by the square plate is

A TL

B.2TL

C.4TL

D.8TL

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eTjgjmDWBtcX

20. The potential energy of molecule on the

surface of a liquid as compared to in side the

liquid is

A. maximum

B. same

C. minimum

D. halved

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_imRQq6BEqi1M

21. If NaCl is dissolved into water , then its

surface tension

A. decreases

B. increases

C. first increases after decreases

D. no change

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_c2zg60Kistts
https://dl.doubtnut.com/l/_LpLlNosdwKdc

22. Absorption of water by filter paper is due

to

A. cohesion

B. capillarity

C. adhesion

D. elasticity

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LpLlNosdwKdc

23.S.l. Unit of surface tension is:

A. m/N

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_rcrCFFu21gef

24. A spherical liquid drop of radius R is
divided into eight equal droplets. If the
surface tension is 7', then the work done in
this process will be

A 8TR’T

B.3rR*T

C.47wR*T

D. 2w RT'?

Answer: C

‘ o Wiadk hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_luWShliN6eWy
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25. The potential energy of molecule on the

surface of a liquid as compared to in side the

liquid is

A. greater

B. less

C. equal

D.depending on the liquid , sometimes

less, sometimes more


https://dl.doubtnut.com/l/_luWShliN6eWy
https://dl.doubtnut.com/l/_0A85VFGA7GLh

Answer: A

o Watch Video Solution

26. n' droplets of equal of radius r coalesce to
form a bigger drop of radius R. The energy
liberated is equal to ( T = Surface tension of
water )

A 4rR2T |n'/* — 1]

B.47T'r2T[n1/3 — 1}

C. 47rR2T{n2/3 — 1}


https://dl.doubtnut.com/l/_0A85VFGA7GLh
https://dl.doubtnut.com/l/_5q7E2fZXaWrh

D. 47Tr2T{n2/3 — 1}

Answer: A

o Watch Video Solution

27. A big drop of radius R is formed by 1000
small droplets of water, then the radius of

small drop is

A.10R

10


https://dl.doubtnut.com/l/_5q7E2fZXaWrh
https://dl.doubtnut.com/l/_2hAoSJEopB2i

Answer: B

° Watch Video Solution

28. In which of the following substances ,
surface tension increases with increase in

temperature ?

A. Copper


https://dl.doubtnut.com/l/_2hAoSJEopB2i
https://dl.doubtnut.com/l/_lolN5XvF6dWF

B. Molten copper

C.lIron

D. Molten iron

Answer: B

o Watch Video Solution

29. The angle of contact for pure water and

clean glass surface is

A. acute


https://dl.doubtnut.com/l/_lolN5XvF6dWF
https://dl.doubtnut.com/l/_A4HoW2ZcAB8E

B. obtuse

C.90°

D.0°

Answer: D

o Watch Video Solution

30. A liquid rises to a height of 1.8 cm in a
glass capillary A another glass capillary B

having diameter 90% of capillary A s


https://dl.doubtnut.com/l/_A4HoW2ZcAB8E
https://dl.doubtnut.com/l/_lKv1SYVGD2dH

immersed in the same liquid the rise of liquid

in capillary B is

A. 14 cm

B.1.8 cm

C.2.0cm

D.2.2cm

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lKv1SYVGD2dH

31. A large number of liquid drops each of
radius 'a' coalesce to form a single spherical
drop of radish b. The energy released in the
process is converted into kinetic energy of the

big drops formed. The speed of big drop will

be
'6T<1 1)'1/2
Al—(———
L p\a b))
'6T(1 1)'1/2
B. | —(— — —
L p\b  a)]
- S1/2
1 1
c| L (2_2
_6T<a b)_
- -1/2
1 1
o | P (2 _2
_6T<b a)_



https://dl.doubtnut.com/l/_zzekS3IgV1t2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zzekS3IgV1t2

